
CHEMISTRY

BOOKS - VK JAISWAL ENGLISH

METALLURGY

Level 1

1. Highly electropositive metal(s) can not be commercially extracted by

carbon reduction process at high temperature because these :

A. matals combine with carbon to form covalent carbide

B. metals combine with carbon to form ionic carbide

C.  of highly electropositive metal oxide is having low negative

value

D. metal oxides are not reduced by carbon

ΔGf

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AKhK3tvnY3Bd


Answer: B

Watch Video Solution

2. At , 


 


 


The correct statement is

A. ZnO is more stable than CO

B. ZnO can be reduced to Zn by C

C. ZnO and CO are formed at equal rate

D. ZnO can not be reduced to Zn by C

Answer: B

Watch Video Solution

1000∘ C

Zn ( s ) + O2 ( g ) → ZnO ( s ) , ΔG∘ = − 360KJmol − 11

2

C ( s ) + O2 ( g ) → CO ( g ) , ΔG∘ = − 460KJmol − 11

2

https://dl.doubtnut.com/l/_AKhK3tvnY3Bd
https://dl.doubtnut.com/l/_FIApBZpJOdGx


3. Which of the following pair of ores can not be converted into

corresponding metals by pyrometallurgy ?

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

Ag2S, ZnS

Cu2S, HgS

MnO2, SnO2

4. Ellingham diagram represents change of

A. change of  with temperature

B. change of  with temperature

C. change of  with pressure

D. change of  with temperature

ΔG

ΔH

ΔG

(ΔG − T ΔS)

https://dl.doubtnut.com/l/_cVXi0mlYMVXK
https://dl.doubtnut.com/l/_bqS1K1smMxjm


Answer: A

Watch Video Solution

5. The process of the isolation of a metal by dissolving the ora in a

suitable chemical regent followed by precipitaiton of the matal by a more

electropositive metal is called:

A. hydrometallurgy

B. electrometallurgy

C. zone refining

D. electrorefining

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bqS1K1smMxjm
https://dl.doubtnut.com/l/_IfQtNMJZqRJO


6. The process of the isolation of a metal by dissolving the ore in a

suitable chemical reagent followed by precipitation of the metal by a

more electropositive metal is called :

A. hydrometallurgy

B. electrometallurgy

C. zone refining

D. electrorefining

Answer: A

Watch Video Solution

7. In the alumino-thermite process, Al acts as :

A. an oxidising agent

B. a flux

C. solder

https://dl.doubtnut.com/l/_1ki6HXR93r7O
https://dl.doubtnut.com/l/_Ffn1Nl0WMxkx


D. a reducing agent

Answer: D

Watch Video Solution

8. Which of the following reactions forms the basis of goldschmidt

aluminothermite process ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2Al + N2 → 2AlN

2Al + 3Cl2 → 2AlCl3

2Al + 6HCl → 2AlCl3 + 3H2

2Al + Fe2O3 → Al2O3 + 2Fe

https://dl.doubtnut.com/l/_Ffn1Nl0WMxkx
https://dl.doubtnut.com/l/_60WtEhoBAVIi


9. The extraction of zinc from zinc blende is achieved by :

A. electrolytic reduction

B. roasting followed by reduction with carbon

C. roasting followed by reduction with another metal

D. roasting followed by self-reduction

Answer: B

Watch Video Solution

10. Thermite is a mixture of :p

A. Fe powder and 

B. Al powsder and 

C. Cu powder and 

D. Zn powder and 

Al2O3

Fe2O3

Fe2O3

Cr2O3

https://dl.doubtnut.com/l/_b6SmbYeleNOj
https://dl.doubtnut.com/l/_oiPhgedLaGWt


Answer: B

Watch Video Solution

11. If a metal has low oxygen affinity then the purification of metal may be

carried out by :

A. liquation

B. distillation

C. zone refining

D. cupellation

Answer: D

Watch Video Solution

12. Why is magnesium oxide used as a refractory material?

https://dl.doubtnut.com/l/_oiPhgedLaGWt
https://dl.doubtnut.com/l/_YULk1RHq8I4f
https://dl.doubtnut.com/l/_bC2uYn0O3EKS


A. Graphite

B. CaO

C. SiO

D. MgO

Answer: A

Watch Video Solution

13. Which of the following set of elements mostly occur as sulphide ores ?

A. Zn, Cu, Na

B. Zn, Cu, Pb

C. Fe, Al

D. Cu, Ag, Au

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bC2uYn0O3EKS
https://dl.doubtnut.com/l/_NEqquwprJ3OB


14. Which one contains both Ca and Mg ?

A. Limestone

B. Dolomite

C. Chalk

D. Feldspar

Answer: B

Watch Video Solution

15. Match Column-I with Column-I and select the correct answer using the

codes given below : 

https://dl.doubtnut.com/l/_NEqquwprJ3OB
https://dl.doubtnut.com/l/_vtHMAWKlLZTA
https://dl.doubtnut.com/l/_WR1xChwFHVf6


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A B C D

1 2 3 4

A B C D

2 1 4 3

A B C D

4 3 2 1

A B C D

2 1 3 4

16. Which of the following is not an ore of magnesium ?

A. Carnallite

B. Magnesite

C. Dolomite

D. Gypsum

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_WR1xChwFHVf6
https://dl.doubtnut.com/l/_Nd6j1nlnPi6o


17. Which one of the following is not an ore of aluminium ?

A. Bauxite

B. Corundum

C. Epsomite

D. Cryolite

Answer: C

Watch Video Solution

18. Cinnabar is an ore of

A. Zn

B. Cd

C. Hg

https://dl.doubtnut.com/l/_Nd6j1nlnPi6o
https://dl.doubtnut.com/l/_I2QixUCGSt1h
https://dl.doubtnut.com/l/_CZt1oTSlTb4k


D. Ag

Answer: C

Watch Video Solution

19. Which of the following minerals does not contain iron ?

A. Magnetite

B. Magnesite

C. Haematite

D. Limonite

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_CZt1oTSlTb4k
https://dl.doubtnut.com/l/_jKmGQTE7r7fr


20. Which one of the following types of metals is expected to occur in the

native state ?

A. The alkali metals

B. The alkaline earth metals

C. The noble metals

D. The rare earth metals

Answer: C

Watch Video Solution

21. The most abundant element in earth's crust is

A. Aluminium

B. Silicon

C. Carbon

D. Oxygen

https://dl.doubtnut.com/l/_nM9GH7u53Ij8
https://dl.doubtnut.com/l/_2nfNtNYlaNqo


Answer: D

Watch Video Solution

22. The two most abundant metals in the earth crust are

A. Al, Zn

B. Ag, Au

C. Fe, Cu

D. Fe, Al

Answer: D

Watch Video Solution

23. A mineral is usually associated with a large amount of unwanted

material called :

https://dl.doubtnut.com/l/_2nfNtNYlaNqo
https://dl.doubtnut.com/l/_kxAkrGZ5rHL1
https://dl.doubtnut.com/l/_hPRfWAPTsy3t


A. Gangue

B. Flux

C. Slag

D. Ore

Answer: A

Watch Video Solution

24. The metal which mainly occurs as oxide ore in nature is :

A. Silver

B. Lead

C. Aluminium

D. Copper

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_hPRfWAPTsy3t
https://dl.doubtnut.com/l/_1JVefYg1hzH4


25. Three most occurring elements into the earth crust are :

A. O, Si, Al

B. Si, O, Fe

C. Fe, Ca, Al

D. Si, O, N

Answer: A

Watch Video Solution

26. Froth floatation process for the concentration of sulphide ore is an

illustration of the practical application of

A. adsorption

B. absorption

C. sedimentation

https://dl.doubtnut.com/l/_1JVefYg1hzH4
https://dl.doubtnut.com/l/_Fb2uETkuwki7
https://dl.doubtnut.com/l/_lay1jlZ81WQb


D. coagulation

Answer: A

Watch Video Solution

27. Froth floatation process is used for the concentration of the ore of :

A. Fe

B. Al

C. Cr

D. Cu

Answer: D

Watch Video Solution

28. Haematite ore is conentrated by:

https://dl.doubtnut.com/l/_lay1jlZ81WQb
https://dl.doubtnut.com/l/_gR8vscHP5ehZ
https://dl.doubtnut.com/l/_A6vtK6yGyXpG


A. gravity separation method

B. froth floatation process

C. amalgamation

D. hand picking

Answer: A

Watch Video Solution

29. Electromagnetic seperation is used in the concentration of

A. Copper pyrite

B. Bauxite

C. Cassiterite

D. Cinnabar

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_A6vtK6yGyXpG
https://dl.doubtnut.com/l/_f91sxwrQ4wsY


30. Which one of the following is not a method of concentrain of ore?

A. Electromagnetic separation

B. Smelting

C. Gravity separation

D. Froth floatation process

Answer: B

Watch Video Solution

31. Chemical leaching is useful in the concentration of:

A. Copper pyrite

B. Bauxite

C. Cassiterite

https://dl.doubtnut.com/l/_f91sxwrQ4wsY
https://dl.doubtnut.com/l/_MgaBPutJBtuc
https://dl.doubtnut.com/l/_jj4jF1VXAPnD


D. Galena

Answer: B

Watch Video Solution

32. The ore which is concentrated wetting by oil is :

A. oxide ore

B. sulphate ore

C. carbonate ore

D. sulphide ore

Answer: D

Watch Video Solution

33. Rutile is separated from chlorapatite by :

https://dl.doubtnut.com/l/_jj4jF1VXAPnD
https://dl.doubtnut.com/l/_c0CN7LheGvzW
https://dl.doubtnut.com/l/_Igo9ZUv5Tz0J


A. Froth floatation method

B. Levigation

C. Magnetic separation method

D. Electrostatic separation method

Answer: C

Watch Video Solution

34. In the extraction of copper fromo its sulphide ore, the metal is formed

by the reduction of  with ___________

A. FeS

B. CO

C. 

D. 

Answer: C

Cu2O

Cu2S

SO2

https://dl.doubtnut.com/l/_Igo9ZUv5Tz0J
https://dl.doubtnut.com/l/_PLf3e1xmo3YI


Watch Video Solution

35. Which of the following pair is incorrectly matched

A. van Arkel method-Zirconium

B. Kroll's process-Titanium

C. Froth Floatation -Cerussite

D. Distillation -Zine

Answer: C

Watch Video Solution

36. The most abundant metal in earth's crust is _____.

A. Al

B. O

C. Fe

https://dl.doubtnut.com/l/_PLf3e1xmo3YI
https://dl.doubtnut.com/l/_5zvY4psrvNnu
https://dl.doubtnut.com/l/_edd3b8tgsF7j


D. Si

Answer: A

Watch Video Solution

37. Consider the following reactions : 

 


 


Then 'X' can not be :

A. Hg

B. Pb

C. Zn

D. None

Answer: C

Watch Video Solution

2XS + 3O2

Δ
−−→ 2XO + 2SO2

2XO + XS
Δ

−−→ 3' X' + SO2

https://dl.doubtnut.com/l/_edd3b8tgsF7j
https://dl.doubtnut.com/l/_DgOxS5KePlMW


38. In the alumino-thermite process, Al metal acts as :

A. Oxidising agent

B. Reducing agent

C. Catalyst

D. Flux

Answer: B

Watch Video Solution

39. Extraction of aluminium from bauxite ore, reduction is carried out by :

A. carbon

B. magnesium

C. electrolysis

D. hydrogen

https://dl.doubtnut.com/l/_ABKQZv6iSfkV
https://dl.doubtnut.com/l/_EQAp12B0Ouay


Answer: C

Watch Video Solution

40. Chromium is obtained by reducing connentrated chromite ore with :

A. red hot coke

B. gaseous hydrogen

C. aluminium powder

D. carbon monoxide

Answer: C

Watch Video Solution

41. The element which is recovered from electrolyte process is 

A. iron

:

https://dl.doubtnut.com/l/_EQAp12B0Ouay
https://dl.doubtnut.com/l/_d5TdlzzfULu1
https://dl.doubtnut.com/l/_6MjROgOpzYqj


B. lead

C. aluminium

D. zinc

Answer: C

Watch Video Solution

42. Magnesium is extracted electrolysing fused magnesium chloride

containing and using:

A. a nickel cathode and a graphite anode

B. the iron container as anode and a nickel cathode

C. the iron container as cathode and a graphite anode

D. the nickel container as cathode and iron anode

Answer: C

Watch Video Solution

NaC1 CaC12

https://dl.doubtnut.com/l/_6MjROgOpzYqj
https://dl.doubtnut.com/l/_7yycoSzdebjA


43. Copper is extracted from sulphide ore using the method :

A. carbon reduction

B. carbon monoxide reduction

C. auto reduction

D. None of these

Answer: C

Watch Video Solution

44. In the extraction of copper, metal is formed in the Bessemer converter

due to reaction

A. 

B. 

C. 

Cu2S + 2Cu2O → 6Cu + SO2

Cu2S → 2Cu + S

Fe + Cu2O → 2Cu + FeO

https://dl.doubtnut.com/l/_7yycoSzdebjA
https://dl.doubtnut.com/l/_UG7O2MFQGRqv
https://dl.doubtnut.com/l/_YTnHLT0MtcMS


D. 

Answer: A

Watch Video Solution

2Cu2O → 4Cu + O2

45. Silica is added to roasted copper during extraction in order to

remove:

A. cuprous sulphide

B. ferrous oxide

C. ferrous sulphide

D. cuprous oxide

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YTnHLT0MtcMS
https://dl.doubtnut.com/l/_AS8116wMGTJH


46. Calcium is extracted by the electrolysis of 

A. Fused mixture of 

B.  fused salt solution

C. Used mixture of  and NaF

D.  fused salt solution

Answer: A

Watch Video Solution

:

CaCl2 and CaF2

CaCl2

CaCl2

Ca2(PO4)2

47. Lead is mainly extracted by :

A. Carbon reduction method

B. Self-reduction method

C. Electrolytic reduction

D. Leaching with aqueous solution of NaCN followed by reduction

https://dl.doubtnut.com/l/_BGNu1GVxhFnV
https://dl.doubtnut.com/l/_mAeINsZNXhwf


Answer: B

Watch Video Solution

48. In which of the following isolation no reducing agent is required

A. Mercury from cinnabar

B. Zinc from zinc blende

C. Iron from haematite

D. Aluminium from Bauxite

Answer: A

Watch Video Solution

49. Aluminium is used as a reducing agent in the reduction of :

A. Cr2O3

https://dl.doubtnut.com/l/_mAeINsZNXhwf
https://dl.doubtnut.com/l/_0ypF6mL4ZyXI
https://dl.doubtnut.com/l/_nGfbmWX3w0Wn


B. 

C. 

D. HgO

Answer: A

Watch Video Solution

SnO2

ZnO

50. Bessemerisation is carried out for

A. Fe, Cu

B. Cu, Al

C. Al, Ag

D. Fe, Al

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nGfbmWX3w0Wn
https://dl.doubtnut.com/l/_fBAcsiCQZfoa
https://dl.doubtnut.com/l/_xvDOhmNnoFQH


51. Silver can be separated form lead by:

A. fractional crystallisation

B. amalgamation

C. cupellation

D. addition of zinc (Parke's method)

Answer: D

Watch Video Solution

52. A solution of sodium sulphate in water is electrolysed using inert

electrodes, The products at the cathode and anode are respectively.

A. 

B. 

C. 

D. 

O2 : H2

O2, Na

H2, O2

O2, SO2

https://dl.doubtnut.com/l/_xvDOhmNnoFQH
https://dl.doubtnut.com/l/_44YdfCXR8PNS


Answer: C

Watch Video Solution

53. The metal A is prepared by the electrolysis of fused chloride. It reacts

with hydrogen to form a colourless solid from which hydrogen is released

on treatment with water the metal is

A. Al

B. Ca

C. Cu

D. Zn

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_44YdfCXR8PNS
https://dl.doubtnut.com/l/_7WVEok6ypETo


54. The function of fluorspar in the electrolytic reduction of alumnia

dissolved in fused cryotile  is:

A. as a catalyst

B. to lower the temperature of the melt and to make the fused

mixture very conducting

C. to decrease the rate of oxidation of carbon at the anode

D. none of the above

Answer: B

Watch Video Solution

(Na3AlF6)

55. In the extraction of copper from copper pyrites, iron is removed as :

A. 

B. 

C. 

FeSO4

FeSiO3

Fe3O4

https://dl.doubtnut.com/l/_e1zhQzKNa1iC
https://dl.doubtnut.com/l/_S68JvecbYC8o


D. 

Answer: B

Watch Video Solution

Fe2O3

56. The material mixed before ore is subjected for smelting in the

extraction of iron are :

A. coke and silica

B. coke and limestone

C. limestone and silica

D. coke, limestone and silica

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_S68JvecbYC8o
https://dl.doubtnut.com/l/_oIPkqitLYHoN


57. The maximum temperature  is obtained in the _____ region of

the blast furnace used in the the extraction of iron.

A. reduction

B. fusion

C. combustion

D. slag formation

Answer: C

Watch Video Solution

1550∘ C

58. The iron obtained from the blast furnace is called:

A. pig iron

B. cast iron

C. wrought iron

D. steel

https://dl.doubtnut.com/l/_TjY7EzXoltXX
https://dl.doubtnut.com/l/_fRD6uDkL8ron


Answer: A

Watch Video Solution

59. The metal that cannot be obtained by electrolysis of an aqueous

solution of its salts is 

A. Silver

B. Magnesium

C. Copper

D. Platinum

Answer: B

Watch Video Solution

:

60. Impure aluminium is purified by :

https://dl.doubtnut.com/l/_fRD6uDkL8ron
https://dl.doubtnut.com/l/_Rlc0IRlba5JY
https://dl.doubtnut.com/l/_gDbuQgbo93a1


A. Baeyer's process

B. Hall's process

C. Hoop's process

D. Serpeck's process

Answer: C

Watch Video Solution

61. Which is not correctly matched :

A. Spiegleisan 

B. Dow's sea water process 

C. Parke's process 

D. Liquation  spelter (Impure Zn)

Answer: D

Watch Video Solution

      : Mn + Fe + C

    : Ca(OH)2

      : Ag

      :

https://dl.doubtnut.com/l/_gDbuQgbo93a1
https://dl.doubtnut.com/l/_e93b0H6VhcQf


62. Incorrect match is :

A. Purification of Al metal : Baeyer's method

B. Polling : Reduction of 

C.  (chromite ore) : 

D. Ag : Mac Arthur cyanide process

Answer: A

Watch Video Solution

Cu2O

FeCr2O4 NaOH /Na2CO3

63. Refining of tin cannot be done by :

A. cupellation

B. liquation

C. poling

https://dl.doubtnut.com/l/_e93b0H6VhcQf
https://dl.doubtnut.com/l/_ntmt9I9fJ1eA
https://dl.doubtnut.com/l/_JW6IT34g5aX1


D. electrorefining

Answer: A

Watch Video Solution

64. Which method is not correct given for refining of crude metals ?

A. Distillation : zinc and mercury

B. Liquation : tin

C. van Arkel : Zirconium

D. Mond process : lead

Answer: D

Watch Video Solution

65. Impure aluminium is purified by :

https://dl.doubtnut.com/l/_JW6IT34g5aX1
https://dl.doubtnut.com/l/_baEZEJR7pi3Q
https://dl.doubtnut.com/l/_ROunXQ3cX83M


A. Hoope's process

B. Hall's process

C. Serpeck's process

D. Baeyer's process

Answer: A

Watch Video Solution

66. High purity copper metal is obtained by

A. Carbon reduction

B. hydrogen reduction

C. electrolytic reduction

D. thermite reduction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ROunXQ3cX83M
https://dl.doubtnut.com/l/_WVD0PcR3t5Dc


67. Poling process is used

A. The removal of  from Cu

B. The removal of  from Al

C. The removal of  from Fe

D. All of these

Answer: A

Watch Video Solution

Cu2O

Al2O3

Fe2O3

68. In zone refining methods, the molten zone

A. consists of impurities only

B. contains more impurity than the original metal

C. contains the purified metals only

https://dl.doubtnut.com/l/_WVD0PcR3t5Dc
https://dl.doubtnut.com/l/_E06CSsZy6dcN
https://dl.doubtnut.com/l/_TGWo4Zd8qbei


D. moves to either side

Answer: B

Watch Video Solution

69. Which of the following pair is correctly matched ?

A. Copper-Oxidative refining

B. Nickel-Kroll's process

C. Mercury-Distillation

D. Lead-van Arkel method

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TGWo4Zd8qbei
https://dl.doubtnut.com/l/_yuy1NacnGpgh


70. Formation of volatile  and then its subsquent

decomposition into Ni and CO makes basis of Mond's process: 

 


 are:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ni(CO)4

Ni + 4CO
T1

−−→ Ni(CO)4

T2

−−→ Ni4CO3

T1 and T2

100∘ C, 50∘ C

50∘ C, 100∘ C

50∘ C, 230∘ C

230∘ , 50∘ C

71. In the electrolytic refining of copper, Ag and Au are found :

A. on anode

B. in electrolyte solution

https://dl.doubtnut.com/l/_tAYsugHWCjHl
https://dl.doubtnut.com/l/_hrYFYplFXzUN


C. in anode mud

D. in cathode mud

Answer: C

Watch Video Solution

72. Electrolyte solution in electrolytic refining of lead contains :

A.  only

B.  only

C.  in presence of gelatin

D.  in presence of gelatin

Answer: D

Watch Video Solution

H2SiF6

PbSiF6

H2SiF6

H2SiF6 and PbSiF6

https://dl.doubtnut.com/l/_hrYFYplFXzUN
https://dl.doubtnut.com/l/_ETbEoyvcAmwT


73. Blister copper is

A. pure copper

B. ore of copper

C. alloy of copper

D. impure copper

Answer: D

Watch Video Solution

74. Percentage of silver in German silver is

A. 

B. 

C. 

D. 

2.5 %

1.5 %

10 %

0 %

https://dl.doubtnut.com/l/_vVsHNBqcnCX7
https://dl.doubtnut.com/l/_35Gd4PGGfzjd


Answer: D

Watch Video Solution

75. AgCl on fusion with  forms:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Na2CO3

Ag2CO3

Ag2O

Ag

Ag2C2

76. An alloy which does not contain copper is :

A. bronze

https://dl.doubtnut.com/l/_35Gd4PGGfzjd
https://dl.doubtnut.com/l/_25Wcm1Msc6FS
https://dl.doubtnut.com/l/_cVzq50e1SiWQ


B. magnalium

C. brass

D. bell metal

Answer: B

Watch Video Solution

77. Stainless steel contains iron and

A. Zn

B. Cu

C. Al

D. Cr

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cVzq50e1SiWQ
https://dl.doubtnut.com/l/_fQHYmgcyFALm
https://dl.doubtnut.com/l/_RvfNppoD4DiH


78. Railway wagon axles are made by heating rods of iron embedded in

charcoal powerder. The process is known as

A. tempering

B. annealing

C. nitriding

D. case hardening

Answer: D

Watch Video Solution

79. Nitriding is a process of hardening steel by treating it in an

atmosphere of

A. ammonia

B. oxygen

C. carbon dioxide

https://dl.doubtnut.com/l/_RvfNppoD4DiH
https://dl.doubtnut.com/l/_xFX2bayUhKXe


D. air

Answer: A

Watch Video Solution

80. Bassemer converter is used in the refining of :

A. pig iron

B. steel

C. wrought iron

D. cast iron

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xFX2bayUhKXe
https://dl.doubtnut.com/l/_VUnnPmmZsHfp


81. Which of the following elements contitutes a major impurity in pig

iron ?

A. Carbon

B. oxygen

C. Sulphur

D. Silicon

Answer: A

Watch Video Solution

82. Highly electropositive metal(s) can not be commercially extracted by

carbon reduction process at high temperature because these :

A. metals combine with carbon to form covalent carbide

B. metals combine with carbon to form ionic carbide

https://dl.doubtnut.com/l/_UiQavDnziFm6
https://dl.doubtnut.com/l/_aZ20RNSXojrF


C.  of highly electropositive metal oxide is having low negative

value

D. metal oxides are not reduced by carbon

Answer: B

Watch Video Solution

ΔGf

83. Consider the following reactions at  


(I)  


(II)  


and choose the correct statement at 

A. ZnO is more stable than CO

B. ZnO can be reduced to Zn by C

C. ZnO and CO are formed at equal rate

D. ZnO can not be reduced to Zn by C

1000∘ C

Zn(s) + 1/2O2(g)
Δ

−−→ ZnO(g), ΔG∘ = − 360  kJ mol − 1

C(s) + 1/2O2(g)
Δ

−−→ CO(g), ΔG∘ = − 460  kJ mol − 1

1000∘ C

https://dl.doubtnut.com/l/_aZ20RNSXojrF
https://dl.doubtnut.com/l/_VYW6pd3MzqJR


Answer: B

Watch Video Solution

84. Which of the following pair of ores cannot be converted into

corresponding metals by pyrometallurgy ?

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

Ag2S, ZnS

Cu2S, HgS

MnO2, SnO2

85. Ellingham diagram represents change of

https://dl.doubtnut.com/l/_VYW6pd3MzqJR
https://dl.doubtnut.com/l/_iTII6U8dagkx
https://dl.doubtnut.com/l/_zDuEaPTU94he


A. change of  with temperature

B. change of  with temperature

C. change of  with pressure

D. change of  with temperature

Answer: A

Watch Video Solution

ΔG

ΔH

ΔG

(ΔG − T ΔS)

86. The process of the isolation of a metal by dissolving the ore in a

suitable chemical reagent followed by precipitation of the metal by a

more electropositive metal is called :

A. hydrometallurgy

B. electrometallurgy

C. zone refining

D. electrorefining

https://dl.doubtnut.com/l/_zDuEaPTU94he
https://dl.doubtnut.com/l/_gICLxWq3V1Ft


Answer: A

Watch Video Solution

87. The process of the isolation of a metal by dissolving the ore in a

suitable chemical reagent followed by precipitation of the metal by a

more electropositive metal is called :

A. hydrometallurgy

B. electrometallurgy

C. zone refining

D. electrorefining

Answer: A

Watch Video Solution

88. In the alumino-thermite process, Al acts as :

https://dl.doubtnut.com/l/_gICLxWq3V1Ft
https://dl.doubtnut.com/l/_3dY5GaSKIjMl
https://dl.doubtnut.com/l/_XZ9RahyN1Qq0


A. an oxidising agent

B. a flux

C. solder

D. a reducing agent

Answer: D

Watch Video Solution

89. Which of the following reaction forms the basis of Goldschmidt

alumino-thermite process ?

A. 

B. 

C. 

D. 

Answer: D

2Al + N2 → 2AlN

2Al + 3Cl2 → 2AlCl3

2Al + 6HCl → 2AlCl3 + 3H2

2Al + Fe2O3 → Al2O3 + 2Fe

https://dl.doubtnut.com/l/_XZ9RahyN1Qq0
https://dl.doubtnut.com/l/_4rHabM2KSQ8T


Watch Video Solution

90. Extraction of zinc from zinc blende is achieved by:

A. electrolytic reduction

B. roasting followed by reduction with carbon

C. roasting followed by reduction with another metal

D. roasting followed by self-reduction

Answer: B

Watch Video Solution

91. Thermite is a mixture of 

A. Fe powder and 

B. Al powder and 

C. Cu powder and 

:

Al2O3

Fe2O3

Fe2O3

https://dl.doubtnut.com/l/_4rHabM2KSQ8T
https://dl.doubtnut.com/l/_rSxeoim5191f
https://dl.doubtnut.com/l/_mBEasKVLtKwt


D. Zn powder and 

Answer: B

Watch Video Solution

Cr2O3

92. If a metal has low oxygen affinity then the purification of metal may be

carried out by :

A. liquation

B. distillation

C. zone refining

D. cupellation

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_mBEasKVLtKwt
https://dl.doubtnut.com/l/_WX0Och3ySXFa


93. Neutral refractory material used in furnaces is :

A. Graphite

B. CaO

C. SiO

D. MgO

Answer: A

Watch Video Solution

94. Which of the following set of elements mostly occur as sulphide ores.

A. Zn, Cu, Na

B. Zn, Cu, Pb

C. Fe, Al

D. Cu, Ag, Au

https://dl.doubtnut.com/l/_mRBSbKDkDwaI
https://dl.doubtnut.com/l/_i1hDgyjhHame


Answer: B

Watch Video Solution

95. Which one contains both Ca and Mg ?

A. Limestone

B. Dolomite

C. Chalk

D. Feldspar

Answer: B

Watch Video Solution

96. Match Column-I with Column-I and select the correct answer using the

codes given below : 

https://dl.doubtnut.com/l/_i1hDgyjhHame
https://dl.doubtnut.com/l/_f1rHmz4eABvD
https://dl.doubtnut.com/l/_IdNeK7E0YlZh


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A B C D

1 2 3 4

A B C D

2 1 4 3

A B C D

4 3 2 1

A B C D

2 1 3 4

97. Which of the following is not an ore of magnesium ?

A. Carnallite

B. Magnesite

C. Dolomite

D. Gypsum

https://dl.doubtnut.com/l/_IdNeK7E0YlZh
https://dl.doubtnut.com/l/_RvQPNr6CgdPc


Answer: D

Watch Video Solution

98. Which one of the following is not an ore of aluminium ?

A. Bauxite

B. Corundum

C. Epsomite

D. Cryolite

Answer: C

Watch Video Solution

99. Cinnabar is the ore of :

A. Zn

https://dl.doubtnut.com/l/_RvQPNr6CgdPc
https://dl.doubtnut.com/l/_ohlO6oCA5wqp
https://dl.doubtnut.com/l/_vesbnAA7wVMI


B. Cd

C. Hg

D. Ag

Answer: C

Watch Video Solution

100. Which of the following minerals does not contain iron ?

A. Magnetite

B. Magnesite

C. Haematite

D. Limonite

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_vesbnAA7wVMI
https://dl.doubtnut.com/l/_mC3d0f3Ls5p7
https://dl.doubtnut.com/l/_lH5tGuEIYPXK


101. Which one of the following types of metals is expected to occur in

the native state ?

A. The alkali metals

B. The alkaline earth metals

C. The noble metals

D. The rare earth metals

Answer: C

Watch Video Solution

102. Which one of the following elements is most abundant in earth crust

?

A. Aluminium

B. Silicon

C. Carbon

https://dl.doubtnut.com/l/_lH5tGuEIYPXK
https://dl.doubtnut.com/l/_RDqUvacqjYjy


D. Oxygen

Answer: D

Watch Video Solution

103. The two most abundant metals in the earth crust are

A. Al, Zn

B. Ag, Au

C. Fe, Cu

D. Fe, Al

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_RDqUvacqjYjy
https://dl.doubtnut.com/l/_w0jhmyYJo8EL


104. A mineral is usually associated with a large amount of unwanted

material called :

A. Gangue

B. Flux

C. Slag

D. Ore

Answer: A

Watch Video Solution

105. The metal which mainly occurs as oxide ore in nature is :

A. silver

B. lead

C. aluminium

D. copper

https://dl.doubtnut.com/l/_E9T2aBMqrCrm
https://dl.doubtnut.com/l/_rkzWWxrAgyJo


Answer: C

Watch Video Solution

106. Three most occurring elements into the earth crust are :

A. O, Si, Al

B. Si, O, Fe

C. Fe, Ca, Al

D. Si, O, N

Answer: A

Watch Video Solution

107. Froth floatation process for the concentration of sulphide ore is an

illustration of the practical application of

https://dl.doubtnut.com/l/_rkzWWxrAgyJo
https://dl.doubtnut.com/l/_NFRXkVkFV6Ce
https://dl.doubtnut.com/l/_ydP9ucRdr2BL


A. adsorption

B. absorption

C. sedimentation

D. coagulation

Answer: A

Watch Video Solution

108. Froth floatation process is used for the concentration of the ore of :

A. Fe

B. Al

C. Cr

D. Cu

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ydP9ucRdr2BL
https://dl.doubtnut.com/l/_Idiw3zTBvUua


109. Haematite ore is concentrated by

A. gravity separation method

B. froth floatation process

C. amalgamation

D. hand picking

Answer: A

Watch Video Solution

110. Electromagnetic separation is used in the concentration of :

A. Copper pyrite

B. Bauxite

C. Cassiterite

https://dl.doubtnut.com/l/_Idiw3zTBvUua
https://dl.doubtnut.com/l/_e8bbL43yHn6F
https://dl.doubtnut.com/l/_ydEd1nNMOaQY


D. Cinnabar

Answer: C

Watch Video Solution

111. Which one of the following is not a method of concentration of ore ?

A. Electromagnetic separation

B. Smelting

C. Gravity separation

D. Froth floatation process

Answer: B

Watch Video Solution

112. Chemical leaching is useful in the concentration of :

https://dl.doubtnut.com/l/_ydEd1nNMOaQY
https://dl.doubtnut.com/l/_Q2qgnWyeGPkU
https://dl.doubtnut.com/l/_5d9rUc7jjRb0


A. Copper pyrite

B. Bauxite

C. Cassiterite

D. Galena

Answer: B

Watch Video Solution

113. Sulphide ore is concentrated by which method?

A. oxide ore

B. sulphate ore

C. carbonate ore

D. sulphide ore

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_5d9rUc7jjRb0
https://dl.doubtnut.com/l/_gnHAsFhlrzW8


114. Rutile is separated from chlorapatite by :

A. Froth floatation method

B. Levigation

C. Magnetic separation method

D. Electrostatic separation method

Answer: C

Watch Video Solution

115. In the extraction of copper fromo its sulphide ore, the metal is

formed by the reduction of  with ___________

A. FeS

B. CO

C. 

Cu2O

Cu2S

https://dl.doubtnut.com/l/_gnHAsFhlrzW8
https://dl.doubtnut.com/l/_e5286EtWWk9j
https://dl.doubtnut.com/l/_7IwzfuHjJLZI


D. 

Answer: C

Watch Video Solution

SO2

116. Which of the following pair is incorrectly matched ?

A. van Arkel method-Zirconium

B. Kroll's process-Titanium

C. Froth Floatation -Cerussite

D. Distillation -Zine

Answer: C

Watch Video Solution

117. The most abundant metal in earth's crust is _____.

https://dl.doubtnut.com/l/_7IwzfuHjJLZI
https://dl.doubtnut.com/l/_DxUxAyW2hk2Q
https://dl.doubtnut.com/l/_XlNqLie7BLit


A. Al

B. O

C. Fe

D. Si

Answer: A

Watch Video Solution

118. Consider the following reactions : 

 


 


Then 'X' can not be :

A. Hg

B. Pb

C. Zn

D. None

2XS + 3O2

Δ
−−→ 2XO + 2SO2

2XO + XS
Δ

−−→ 3' X' + SO2

https://dl.doubtnut.com/l/_XlNqLie7BLit
https://dl.doubtnut.com/l/_GAMUYnMuvdIb


Answer: C

Watch Video Solution

119. In the alumino-thermite process, Al metal acts as :

A. Oxidising agent

B. Reducing agent

C. Catalyst

D. Flux

Answer: B

Watch Video Solution

120. In extraction of aluminium from bauxite ore, reduction is carried out

by :

https://dl.doubtnut.com/l/_GAMUYnMuvdIb
https://dl.doubtnut.com/l/_TIurVHmzr20T
https://dl.doubtnut.com/l/_i9eRXH9vB2gW


A. carbon

B. magnesium

C. electrolysis

D. hydrogen

Answer: C

Watch Video Solution

121. Chromium is obtained by reducing connentrated chromite ore with :

A. red hot coke

B. gaseous hydrogen

C. aluminium powder

D. carbon monoxide

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_i9eRXH9vB2gW
https://dl.doubtnut.com/l/_bMxJsJ9PU0HP


122. The element which is recovered from electrolytic process is :

A. iron

B. lead

C. aluminium

D. zinc

Answer: C

Watch Video Solution

123. Magnesium is manufactured by electrolysing fused magnesium

chloride using :

A. a nickel cathode and a graphite anode

B. the iron container as anode and a nickel cathode

C. the iron container as cathode and a graphite anode

https://dl.doubtnut.com/l/_bMxJsJ9PU0HP
https://dl.doubtnut.com/l/_EfvNrjvwzMYt
https://dl.doubtnut.com/l/_RW0Srze9u8xU


D. the nickel container as cathode and iron anode

Answer: C

Watch Video Solution

124. Copper is extracted from sulphide ore using the method :

A. carbon reduction

B. carbon monoxide reduction

C. auto reduction

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_RW0Srze9u8xU
https://dl.doubtnut.com/l/_ydEIO2fVmm6J


125. In the extraction of copper, metal is formed in the Bassemer

converter due to reaction :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cu2S + 2Cu2O → 6Cu + SO2

Cu2S → 2Cu + S

Fe + Cu2O → 2Cu + FeO

2Cu2O → 4Cu + O2

126. Silica is added to roasted copper ore during extraction in order to

remove :

A. cuprous sulphide

B. ferrous oxide

C. ferrous sulphide

https://dl.doubtnut.com/l/_DwA9SFea95L3
https://dl.doubtnut.com/l/_enj4QSl0EM3J


D. cuprous oxide

Answer: B

Watch Video Solution

127. Calcium is extracted by the electrolysis of :

A. Fused mixture of 

B.  fused salt solution

C. Used mixture of  and NaF

D.  fused salt solution

Answer: A

Watch Video Solution

CaCl2 and CaF2

CaCl2

CaCl2

Ca2(PO4)2

128. Lead is mainly extracted by :

https://dl.doubtnut.com/l/_enj4QSl0EM3J
https://dl.doubtnut.com/l/_D4ZAZ7f8cu5J
https://dl.doubtnut.com/l/_aDv59hMrM0Qq


A. Carbon reduction method

B. Self-reduction method

C. Electrolytic reduction

D. Leaching with aqueous solution of NaCN followed by reduction

Answer: B

Watch Video Solution

129. In which of the following metallurgy, no reducing agent is required

from out side ?

A. Mercury from cinnabar

B. Zinc from zinc blende

C. Iron from haematite

D. Aluminium from Bauxite

Answer: A

https://dl.doubtnut.com/l/_aDv59hMrM0Qq
https://dl.doubtnut.com/l/_L0RoFYyLuX60


Watch Video Solution

130. Aluminium is used as a reducing agent in the reduction of :

A. 

B. 

C. 

D. HgO

Answer: A

Watch Video Solution

Cr2O3

SnO2

ZnO

131. Bessemerisation is carried out for

A. Fe, Cu

B. Cu, Al

C. Al, Ag

https://dl.doubtnut.com/l/_L0RoFYyLuX60
https://dl.doubtnut.com/l/_HjDVbf7zpMGJ
https://dl.doubtnut.com/l/_Qo27tdbBSQD6


D. Fe, Al

Answer: A

Watch Video Solution

132. Silver can be separated form lead by:

A. fractional crystallisation

B. amalgamation

C. cupellation

D. addition of zinc (Parke's method)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Qo27tdbBSQD6
https://dl.doubtnut.com/l/_gaPm0bE5NcEU


133. A solution of sodium sulphate in water is electrolysed using inert

electrodes, The products at the cathode and anode are respectively.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

O2 : H2

O2, Na

H2, O2

O2, SO2

134. The metal X is prepared by the electrolysis of fused chloride. It reacts

with hydrogen to form a colourless solid from which hydrogen gas is

released on treatment with water. The metal is :

A. Al

B. Ca

https://dl.doubtnut.com/l/_XcaqjQtFVoVD
https://dl.doubtnut.com/l/_6p4fWak1c27Z


C. Cu

D. Zn

Answer: B

Watch Video Solution

135. The function of fluorspar in the electrolytic reduction of alumnia

dissolved in fused cryotile  is:

A. as a catalyst

B. to lower the temperature of the melt and to make the fused

mixture very conducting

C. to decrease the rate of oxidation of carbon at the anode

D. none of the above

Answer: B

Watch Video Solution

(Na3AlF6)

https://dl.doubtnut.com/l/_6p4fWak1c27Z
https://dl.doubtnut.com/l/_MbTULOQQXT24


136. In the extraction of copper from copper pyrites, iron is removed as :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

FeSO4

FeSiO3

Fe3O4

Fe2O3

137. The material mixed before ore is subjected for smelting in the

extraction of iron are :

A. coke and silica

B. coke and limestone

C. limestone and silica

https://dl.doubtnut.com/l/_MbTULOQQXT24
https://dl.doubtnut.com/l/_rvdSmFbBpJ5I
https://dl.doubtnut.com/l/_3I8U8whK2HHj


D. coke, limestone and silica

Answer: B

Watch Video Solution

138. The maximum temperature  is obtained in the _____ region of

the blast furnace used in the the extraction of iron.

A. reduction

B. fusion

C. combustion

D. slag formation

Answer: C

Watch Video Solution

1550∘ C

https://dl.doubtnut.com/l/_3I8U8whK2HHj
https://dl.doubtnut.com/l/_8OVBH9A2p2II


139. Which form of iron is extracted from blast furnance :

A. pig iron

B. cast iron

C. wrought iron

D. steel

Answer: A

Watch Video Solution

140. Which metal can not obtained by electrolysis of their aqueous salt

solution ?

A. Silver

B. Magnesium

C. Copper

D. Platinum

https://dl.doubtnut.com/l/_4oQjEi1vrh1x
https://dl.doubtnut.com/l/_TRuBbbI0ptMF


Answer: B

Watch Video Solution

141. Impure aluminium is purified by :

A. Baeyer's process

B. Hall's process

C. Hoop's process

D. Serpeck's process

Answer: C

Watch Video Solution

142. Which is not correctly matched :

A. Spiegleisan       : Mn + Fe + C

https://dl.doubtnut.com/l/_TRuBbbI0ptMF
https://dl.doubtnut.com/l/_zgNZtuzrwcxz
https://dl.doubtnut.com/l/_XcAKZ1hxWkGH


B. Dow's sea water process 

C. Parke's process 

D. Liquation  spelter (Impure Zn)

Answer: D

Watch Video Solution

    : Ca(OH)2

      : Ag

      :

143. Incorrect match is :

A. Purification of Al metal : Baeyer's method

B. Polling : Reduction of 

C.  (chromite ore) : 

D. Ag : Mac Arthur cyanide process

Answer: A

Watch Video Solution

Cu2O

FeCr2O4 NaOH /Na2CO3

https://dl.doubtnut.com/l/_XcAKZ1hxWkGH
https://dl.doubtnut.com/l/_t3n1gTFIZ35k
https://dl.doubtnut.com/l/_dgYHP4FZPShr


144. Refining of tin cannot be done by :

A. cupellation

B. liquation

C. poling

D. electrorefining

Answer: A

Watch Video Solution

145. Which method is not correct given for refining of crude metals ?

A. Distillation : zinc and mercury

B. Liquation : tin

C. van Arkel : Zirconium

D. Mond process : lead

https://dl.doubtnut.com/l/_dgYHP4FZPShr
https://dl.doubtnut.com/l/_Qg8dpQ7RzXoe


Answer: D

Watch Video Solution

146. Aluminium metal is purified by 

A. Hoope's process

B. Hall's process

C. Serpeck's process

D. Baeyer's process

Answer: A

Watch Video Solution

:

147. High purity copper metal is obtained by :

A. Carbon reduction

https://dl.doubtnut.com/l/_Qg8dpQ7RzXoe
https://dl.doubtnut.com/l/_g2HttsrWeA6u
https://dl.doubtnut.com/l/_iEsdKc9WOs2y


B. hydrogen reduction

C. electrolytic reduction

D. thermite reduction

Answer: C

Watch Video Solution

148. Poling process is used

A. The removal of  from Cu

B. The removal of  from Al

C. The removal of  from Fe

D. All of these

Answer: A

Watch Video Solution

Cu2O

Al2O3

Fe2O3

https://dl.doubtnut.com/l/_iEsdKc9WOs2y
https://dl.doubtnut.com/l/_rSNuJVRdliPB
https://dl.doubtnut.com/l/_BCaT6l1us03R


149. In zone-refining methode the molten zone

A. consists of impurities only

B. contains more impurity than the original metal

C. contains the purified metals only

D. moves to either side

Answer: B

Watch Video Solution

150. Which of the following pair is correctly matched ?

A. Copper-Oxidative refining

B. Nickel-Kroll's process

C. Mercury-Distillation

D. Lead-van Arkel method

https://dl.doubtnut.com/l/_BCaT6l1us03R
https://dl.doubtnut.com/l/_4FC3PI6884pF


Answer: C

Watch Video Solution

151. Formation of  and subsequent its decomposition into Ni

and CO makes basis of Mond's process, 

 are :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ni(CO)4

Ni + 4CO
T1

−−→ Ni(CO)4

T2

−−→ Ni + 4CO, T1 and T2

100∘ C, 50∘ C

50∘ C, 100∘ C

50∘ C, 230∘ C

230∘ , 50∘ C

152. In the elctrolysis refinin of copper, Ag and Au are found:

https://dl.doubtnut.com/l/_4FC3PI6884pF
https://dl.doubtnut.com/l/_1iVfWyUzqIyE
https://dl.doubtnut.com/l/_oxu55gzYB5Zb


A. on anode

B. in electrolyte solution

C. in anode mud

D. in cathode mud

Answer: C

Watch Video Solution

153. Electrolyte solution in electrolytic refining of lead contains :

A.  only

B.  only

C.  in presence of gelatin

D.  in presence of geltatin

Answer: D

Watch Video Solution

H2SiF6

PbSiF6

H2SiF6

H2SiF6 and PbSiF6

https://dl.doubtnut.com/l/_oxu55gzYB5Zb
https://dl.doubtnut.com/l/_L12mVkZGmKSZ


154. Blister copper is

A. pure copper

B. ore of copper

C. alloy of copper

D. impure copper

Answer: D

Watch Video Solution

155. Percentage of silver in the alloy german silver is :

A. 

B. 

C. 

2.5 %

1.5 %

10 %

https://dl.doubtnut.com/l/_L12mVkZGmKSZ
https://dl.doubtnut.com/l/_3OgMGsRiM6y1
https://dl.doubtnut.com/l/_dogqRWKXU36E


D. 

Answer: D

Watch Video Solution

0 %

156. AgCl on fusion with  forms:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Na2CO3

Ag2CO3

Ag2O

Ag

Ag2C2

157. An alloy which does not contain copper is :

https://dl.doubtnut.com/l/_dogqRWKXU36E
https://dl.doubtnut.com/l/_WGilXmlU6Pgl
https://dl.doubtnut.com/l/_xghen5ubiDmP


A. bronze

B. magnalium

C. brass

D. bell metal

Answer: B

Watch Video Solution

158. Stainless steel contains iron and

A. Zn

B. Cu

C. Al

D. Cr

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xghen5ubiDmP
https://dl.doubtnut.com/l/_KALTvHNJauyo


159. Axles are made by heating rods of iron embedded in charcoal powder.

The process is known as :

A. tempering

B. annealing

C. nitriding

D. case hardening

Answer: D

Watch Video Solution

160. Nitriding is a process of heating steel in atmosphere of :

A. ammonia

B. oxygen

C. carbon dioxide

https://dl.doubtnut.com/l/_KALTvHNJauyo
https://dl.doubtnut.com/l/_4BDWWz1qw0lR
https://dl.doubtnut.com/l/_uBqJZ8nY3BAS


D. air

Answer: A

Watch Video Solution

161. Bassemer converter is used in the refining of :

A. pig iron

B. steel

C. wrought iron

D. cast iron

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_uBqJZ8nY3BAS
https://dl.doubtnut.com/l/_szvluKfDGaLf


Level 2

162. Which of the following elements contitutes a major impurity in pig

iron ?

A. Carbon

B. oxygen

C. Sulphur

D. Silicon

Answer: A

Watch Video Solution

1. Which of the following pair of ores cannot be converted into

corresponding metals by pyrometallurgy ?

A. Ag2S, ZnS

https://dl.doubtnut.com/l/_oOvnKeBu3Wro
https://dl.doubtnut.com/l/_08XcI5D9sjZK


B. 

C. 

D. None

Answer: A

Watch Video Solution

Cu2S, HgS

MnO2, SnO2

2.  , 


, Ore of Y would be :

A. Siderite

B. Cinnabar

C. Malachite

D. Hornsilver

Answer: B

Watch Video Solution

XCl2(excess) + Y cl2 → XCl4 + Y ⏐↓

Y O
Δ

−−−→
> 400 ∘

O2 + Y
1

2

https://dl.doubtnut.com/l/_08XcI5D9sjZK
https://dl.doubtnut.com/l/_3J8mM8n98bEd


3. Sulphdies ores are converted to oxides before reduction . This is

explained on the basic of which of the following ?

A. a sulphide ore cannot be reduced to metal at all

B. no reducing agent is found suitable for reducing a sulphide ore

C. the enthalpy of formation of  is more than that of 

D. a metal oxide is generally less stable than the metal sulphide

Answer: D

Watch Video Solution

CO2 CS2

4. Choose the correct option the code regarding roasting process. 

(I) It is the process of heating the ore in air in a reverberatory furnace to

obtain the oxide. 

(II) It is an exothermic process. 

(III) It is used for the concentration of sulphide ore. 

https://dl.doubtnut.com/l/_3J8mM8n98bEd
https://dl.doubtnut.com/l/_dQdzndnbJ3PX
https://dl.doubtnut.com/l/_eKSclL4ziupF


(Iv) It removes easily oxidisable volatile impurities present in the

concentrated ore.

A. I, II and III

B. I, II and IV

C. I, III and IV

D. I, II, III and IV

Answer: B

Watch Video Solution

5. Carbon cannot be used in the reduction of  because:

A. it is non-metal

B. the heat of formation of  is more than that of 

C. pure carbon is not easily available

D. the heat of formation of  is too high

A12O3

CO2 Al2O3

Al2O3

https://dl.doubtnut.com/l/_eKSclL4ziupF
https://dl.doubtnut.com/l/_X0Qx8uPbqAIl


Answer: D

Watch Video Solution

6. On heating quicktime with coke in an electric furnace, we get

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ca and CO2

CaCO3

CaO

CaC2

7. Boron can be obtained by various methods but not by :

A. thermal decomposition of B2H6

https://dl.doubtnut.com/l/_X0Qx8uPbqAIl
https://dl.doubtnut.com/l/_V5H0Kcb00k1L
https://dl.doubtnut.com/l/_h1h5TgS84Gjg


B. pyrolysis of  (van Arkel)

C. reducing 

D. electrolysis of fused 

Answer: D

Watch Video Solution

BI3

BCl3  with H2

BCl3

8. Select correct statement :

A. The decomposition of an oxide into oxygen and metal vapour

entropy increases

B. Decomposition of an oxide is an endothermic change

C. The make  negative, temperature should be high enough so

that 

D. All are correct statements

Answer: D

ΔG∘

T ΔS ∘ > ΔH ∘

https://dl.doubtnut.com/l/_h1h5TgS84Gjg
https://dl.doubtnut.com/l/_8w8pWrK4yjWC


Watch Video Solution

9. The oxide of a metal (R ) can be reduced by the metal (P) and metal (R )

can reduce the oxide of metal (Q). Then the decreasing order of the

reactivity of metal (P), (Q) and (R ) with oxygen is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P > Q > R

P > R > Q

R > P > Q

Q > P > R

10. Consider the following metallurgical processes  


 Heating impure metal with  and distilling the resulting volatile

carbonyl  and finally decomposition at  to get

:

(I) CO

(b. p. 43∘ C) 150∘ − 200∘ C

https://dl.doubtnut.com/l/_8w8pWrK4yjWC
https://dl.doubtnut.com/l/_HquwIEk7SLpk
https://dl.doubtnut.com/l/_JGzPvzYZMNnq


the pure metal. 

 Heating the sulphide ore in air until a part is converted to oxide and

then further heating in the absence of air to let the oxide react with

unchanged metal sulphide. 

 Electrolysis of the molten electrolyte containing approximately

equal amounts of the metal chloride and NaCl to obtain the metal. 

The processes used for obtaining magnesium , nickel and copper are

respectively.

A. (I),(II) and (III)

B. (II), (III) and (I)

C. (III), (I) and (II)

D. (II), (I) and (III)

Answer: C

Watch Video Solution

(II)

(III)

https://dl.doubtnut.com/l/_JGzPvzYZMNnq


11. When alumina is heated with carbon in the atmosphere of nitrogen

then product formed are

A. Al +CO

B. 

C. 

D. 

Answer: D

Watch Video Solution

Al + CO2

Al + CO + CO2

AlN + CO

12.  can be used as a refractory material because

A. It has high melting point

B. It is a good conductor of heat

C. It is a good electrical insulator

D. All of these

MgO

https://dl.doubtnut.com/l/_kfIReNZ4XLNy
https://dl.doubtnut.com/l/_AlisJ9u7LHp1


Answer: D

Watch Video Solution

13. Amoung the following statements, the incorrect statement is :

A. calamine and cerrusite are carbonate ores

B. rutile and cuprite are oxide ores

C. zinc blende and pyrites are sulphide ores

D. malachite and azurite are sulphate ores of Cu

Answer: D

Watch Video Solution

14. Give the correct order of initials T or F for following statements. Use T

if statement is true and F if it is false. 

(i) Every mineral is an ore but every ore is not a mineral 

https://dl.doubtnut.com/l/_AlisJ9u7LHp1
https://dl.doubtnut.com/l/_ngejV8wpvPlH
https://dl.doubtnut.com/l/_21ANKjecqhEF


(ii) Slag is product formed during extraction of metal by combination of

flux and impuritites. 

(iii) Highly pure metals can be obtained by zone refining. 

(iv) Carnallite is an ore of magnesium and sodium.

A. T T T F

B. FT TF

C. FT T T

D. TFTF

Answer: B

Watch Video Solution

15. Find the incorrectly matched pair ?

A. 

B. 

C. 

Column-I(ores) Column-II(metals)

Sylvine (1)Potassium

Column-I(ores) Column-II(metals)

Malachite (2)Magnesium

Column-I(ores) Column-II(metals)

Cinnabar (3)Mercury

https://dl.doubtnut.com/l/_21ANKjecqhEF
https://dl.doubtnut.com/l/_Zy9cSMCL81Ht


D. 

Answer: B

Watch Video Solution

Column-I(ores) Column-II(metals)

Fluorite (Flourspar) (4)Calcium

16. Froth floatation process used for the concentration of sulphide ore :

A. is based on the difference in wettability of different minerls

B. uses sodium ethyl xanthate,  as collector

C. uses NaCN as depressant in the mixture of ZnS and PbS when ZnS

forms soluble complex and PbS forms froth

D. All are correct statements

Answer: D

Watch Video Solution

C2H5OCS2Na

https://dl.doubtnut.com/l/_Zy9cSMCL81Ht
https://dl.doubtnut.com/l/_Gdi6op0iyTZ3


17. When ZnS and PbS minearls are present together, then NaCN is added

to separate them in the froth floatation process as a depressant, because

:

A.  is precipitated while no effect on ZnS

B. ZnS forms soluble complex 

C. PbS forms soluble complex 

D. They cannot be separated by adding NaCN

Answer: B

Watch Video Solution

Pb(CN)2

Na2[Zn(CN)4]

Na2[Pb(CN)4]

18. Leaching of  is carried out by heating it with a dilute solution of :

A. NaCN only

B. HCl

C. NaOH

Ag2S

https://dl.doubtnut.com/l/_LWm0qaMyakVa
https://dl.doubtnut.com/l/_0pSSfjceJvV9


D. NaCN in presence of 

Answer: D

Watch Video Solution

O2

19. Leaching is commercially carried out for in the concentration of :

A. Galena

B. Argentite

C. Copper pyrites

D. Tin stone

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0pSSfjceJvV9
https://dl.doubtnut.com/l/_hFSy8yz292ea


20. When ZnS and PbS minearls are present together, then NaCN is added

to separate them in the froth floatation process as a depressant, because

:

A.  is precipitated while no effect on ZnS

B. ZnS forms soluble complex  while PbS forms froth

C. PbS forms soluble complex  while ZnS forms froth

D. NaCN is never added in froth floatation process

Answer: B

Watch Video Solution

Pb(CN)2

Na2[Zn(CN)4]

Na2[Pb(CN)4]

21. Which of the following substance acts as collector in froth floatation

method ?

A. Sodium xenate

B. Sodium pyrophosphate

https://dl.doubtnut.com/l/_k8ezDBHz0i0Q
https://dl.doubtnut.com/l/_rDEoDPvs5rTT


C. Sodium nitroprusside

D. Sodium ethyl xanthate

Answer: D

Watch Video Solution

22. In which of the following pair of metals, both are commercially

extracted from their respective ores by carbon reduction method ?

A. Zn, Cu

B. Fe, Cu

C. Sn, Zn

D. Al, Ag

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_rDEoDPvs5rTT
https://dl.doubtnut.com/l/_nnHk0kQKabX0
https://dl.doubtnut.com/l/_2KhDCzQiaol0


23. Formation of metallic copper from sulphide ore in te normal

thermometallurgical process essentially involves which of the following

reactions

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cu2S + O2 → Cu2O + SO2,    Cu2O + C → 2Cu + CO
3

2

Cu2S + O2 → Cu2O + SO2,     2Cu2O + Cu2S → 6Cu + SO2

3

2

Cu2S + 2O2 → CuSO4,         CuSO4 + Cu2S → 3Cu + 2SO2

Cu2S + O2 → Cu2O + SO2,       Cu2O + CO → 2Cu + CO2

3

2

24. There are following extraction process of silver but not:

A. as a side product in electrolytic refining of copper

https://dl.doubtnut.com/l/_2KhDCzQiaol0
https://dl.doubtnut.com/l/_TuzMZckj1Mzx


B. Parke's process in which Zn is used to extract silver by solvent

extraction from molten lead

C. by reaction of silver sulphide with KCN and then reaction of soluble

complex with Zn

D. by heating 

Answer: D

Watch Video Solution

Na[Ag(CN)2]

25. In the extraction of aluminium 

Process  employed for red bauxite to remove iron oxide (main

impurity) 

Process  (Serpeck's process): used for while bauxite to remove  (main

impurity) then, 

Select correct option for the process  and impurity .

A. X=Hall and Heroult's process and 

X :

Y : Z

X Z

Z = SiO2

https://dl.doubtnut.com/l/_TuzMZckj1Mzx
https://dl.doubtnut.com/l/_qSDhAqk9IsmX


B. X=Baeyer's process and 

C. `X=Serpeck's process and Z= iron oxide

D. X=Baeyer's process and Z = iron oxide

Answer: B

Watch Video Solution

Z = SiO2

26. Give the correct order of initials T or F for following statements. Use T

if statements is true and F if it is false. 

 In gold schmidt thermite process aluminium acts as a reducing agent. 

 is extracted by electrolysis of aq. solution of . 


 Extraction of Pb is possible by carbon reduction method 

 Red Bauxite is purified by Serpeck's process.

A. T T T F

B. TF FT

C. F T T T

(i)

(ii)Mg MgCl2

(iii)

(iv)

https://dl.doubtnut.com/l/_qSDhAqk9IsmX
https://dl.doubtnut.com/l/_eYdtFliTsW5g


D. TFTF

Answer: D

Watch Video Solution

27.  chromite  is converted to  by following steps  


Chromite  


Reagents in  and  step might be 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

FeCr2O4( ) Cr :

I
−−→ Na2CrO4

II
−−→ Cr2O3

III
−−→ Cr

I, II, III :

 I-Step II-Step III-Step

Na2CO3 /air,Δ  C  C

 I-Step II-Step III-Step

NaOH /air,Δ  CΔ AlΔ

 I-Step II-Step III-Step

Na2CO3 /air,Δ  CΔ  CΔ

 I-Step II-Step III-Step

conc. H2SO4Δ  NH4ClΔ  CΔ

https://dl.doubtnut.com/l/_eYdtFliTsW5g
https://dl.doubtnut.com/l/_RUIzC2hECILG
https://dl.doubtnut.com/l/_UlsXfxO1zsnC


28. The electrolysis of pure alumina is not feasible because :

A. it is bad conductor of electricity and its fusion temperature is high

B. it is volatile in nature

C. it is decomposed when fused

D. it is amphoteric

Answer: A

Watch Video Solution

29. Which of the following reaction does not occur in Bessemer’s

converter ?

A. 

B. 

C. 

D. 

2Cu2S + 5O2 → 2CuSO4 + 2CuO

2Cu2S + 3O2 → 2Cu2O + 2SO2 ↑

2CuFeS2 + O2 → Cu2S + 2FeS + SO2

FeO + SiO2 → FeSiO3

https://dl.doubtnut.com/l/_UlsXfxO1zsnC
https://dl.doubtnut.com/l/_UoNKV4UvYV8e


Answer: C

Watch Video Solution

30. what products are formed during the electrolysis of concentrated

aqueous solution of sodium chloride? 

(I) (g) at anode (II) NaOH (aq) (III) (g) At cathode

A. I only

B. I and II only

C. I and III only

D. I, II and III

Answer: D

Watch Video Solution

Cl2 H2

https://dl.doubtnut.com/l/_UoNKV4UvYV8e
https://dl.doubtnut.com/l/_LIoGzJKS75Jf


31. During the electrolysis of carnallite,  is decomposed and not

KCl. This is because of :

A. lower decomposition voltage of  than that of KCl

B. reverse reaction  if KCl is

decomposed under other experimental condition

C. both (a) and (b)

D. none of the above

Answer: C

Watch Video Solution

MgCl2

MgCl2

MgCl2 + 2K → Mg + 2KCl

32. Aluminium oxide is not reduced by chemical reactions due to

A. Beeyer's process

B. Goldschmidt's aluminothermite process

C. Hall's process

https://dl.doubtnut.com/l/_XZesPnQb147P
https://dl.doubtnut.com/l/_EUy2MKaFyxJn


D. van Arkel process

Answer: B

Watch Video Solution

33. Incorrect statement in electrolysis of  by Hall-Heroult process is

:

A. Cryolite  lowers the m.pt. of  and increases its

electrical conductivity

B. Al is obtained at cathode and  at anode

C.  can be used in place of cryolite 

D.  can be used in place of flourspare 

Answer: D

Watch Video Solution

Al2O3

Na3[AlF6] Al2O3

CO2

Li2CO3 (Na3AlF6)

MgF2 (CaF2)

https://dl.doubtnut.com/l/_EUy2MKaFyxJn
https://dl.doubtnut.com/l/_ViQXgNPeO8ua
https://dl.doubtnut.com/l/_msAcihiFfbZv


34. In the leaching of  with , a stream air is also passed. It is

because of

A. reversible nature of eaction between  and NaCN

B. to oxide  formed into  and sulphur

C. both (a) and (b)

D. none of the above

Answer: C

Watch Video Solution

Ag2S NaCN

Ag2S

Na2S Na2SO4

35. In van Arkel method, if  is introduced at 1700 K over impure metal,

the product will be :

A. Iodide of the metal

B. No reaction takes place

C. Impurities react with iodine

I2

https://dl.doubtnut.com/l/_msAcihiFfbZv
https://dl.doubtnut.com/l/_dRUdPwu5SICL


D. None of these

Answer: A

Watch Video Solution

36. The method of zone refining of metals is based on the principle of :

A. Greater mobility of the pure metal than that of impurity

B. Higher melting point of the impurity than that of the pure metal

C. Greater noble character of the solid metal than that of the impurity

D. Greater solubility of the impurity in the molten state than in the

solid

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_dRUdPwu5SICL
https://dl.doubtnut.com/l/_G3rZMpVes3Pq


37. Blister copper is refined by stirring moltem impure metal with green

logs of wood because such a wood liberated hydrocarbon gases like

. The process X is called _____ and the Metal contains impurity of Y

is ____:

A. X=cupellation, 

B. X=polling, 

C. X=polling, Y= CuO

D. X=cupellation, Y=CuO

Answer: B

Watch Video Solution

(CH4)

Y = CuO2

Y = Cu2O

38. The anode mud in the electrolytic refining of silver contains :

A. Zn, Cu, Ag, Au

B. Zn, Ag, Au

https://dl.doubtnut.com/l/_kTKE2kgLxZXA
https://dl.doubtnut.com/l/_9XH2j3kLWxol


C. Cu, Ag, Au

D. Au only

Answer: D

Watch Video Solution

39. The method of electrolytic refining is not suitable in the extraction of

A. Aluminium

B. Copper

C. Mercury

D. Silver

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_9XH2j3kLWxol
https://dl.doubtnut.com/l/_tGVjuUOpX6vV


40. Match Column-I with Column-II 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P Q R S

II I III IV

P Q R S

II I IV III

P Q R S

I II IV III

P Q R S

I II III IV

41. Softening of lead means:

https://dl.doubtnut.com/l/_yzhaVMWd5Gns
https://dl.doubtnut.com/l/_92QF9O01ojRB


A. conversion of lead to 

B. conversion of lead to 

C. removal of impurities (metallic) from lead

D. washing lead with  followed by alkali solution

Answer: C

Watch Video Solution

PbO

Pb3O4

HNO3

42. In the purification of impure Ni by Mond's process, metal is purified by

A. electrolytic reduction

B. Vapour phase thermal decomposition

C. Thermite reduction

D. Carbon reduction

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_92QF9O01ojRB
https://dl.doubtnut.com/l/_EJMg6VYc3DRl


43. Correct match is :

A. Bayer's method 

B. Matte 

C. van Arkel method - AgCI

D. Thomas slag - Raw material for cement industry

Answer: B

Watch Video Solution

−Na2CO3

      −98 % Cu2S + 2 % FeS

44. Which of the following pair of ores cannot be converted into

corresponding metals by pyrometallurgy ?

A. 

B. 

C. 

Ag2S, ZnS

Cu2S, HgS

MnO2, SnO2

https://dl.doubtnut.com/l/_EJMg6VYc3DRl
https://dl.doubtnut.com/l/_ZGe9Eb8pKJkd
https://dl.doubtnut.com/l/_3WLkqYdXVdkB


D. None

Answer: A

Watch Video Solution

45.  , 


, Ore of Y would be :

A. Siderite

B. Cinnabar

C. Malachite

D. Hornsilver

Answer: B

Watch Video Solution

XCl2(excess) + Y cl2 → XCl4 + Y ⏐↓

Y O
Δ

−−−→
> 400 ∘

O2 + Y
1

2

https://dl.doubtnut.com/l/_3WLkqYdXVdkB
https://dl.doubtnut.com/l/_pQaweb4kXHgc


46. A sulphide ore is first converted into its oxide before reduction. This is

done because :

A. a sulphide ore cannot be reduced to metal at all

B. no reducing agent is found suitable for reducing a sulphide ore

C. the enthalpy of formation of  is more than that of 

D. a metal oxide is generally less stable than the metal sulphide

Answer: D

Watch Video Solution

CO2 CS2

47. Choose the correct code regarding Roasting process. 

(I) It is the process of heating ore in air to obtain the oxide 

(II) It is an exothermic process 

(III) It is used for hydrated oxide and oxysalt ore 

(IV) It is used after the concentration of ore

https://dl.doubtnut.com/l/_2LVfYXgq4icT
https://dl.doubtnut.com/l/_81mhl6tm8v2B


A. I, II and III

B. I, II and IV

C. I, III and IV

D. I, II, III and IV

Answer: B

Watch Video Solution

48. Carbon cannot be used in the reduction of  because :

A. it is non-metal

B. the heat of formation of  is more than that of 

C. pure carbon is not easily available

D. the heat of formation of  is too high

Answer: D

Watch Video Solution

Al2O3

CO2 Al2O3

Al2O3

https://dl.doubtnut.com/l/_81mhl6tm8v2B
https://dl.doubtnut.com/l/_kc28uvzKHVZC


49. On heating quick lime with coke in an electric furnace, we get :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ca and CO2

CaCO3

CaO

CaC2

50. Boron can be obtained by various methods but not by :

A. thermal decomposition of 

B. pyrolysis of  (van Arkel)

C. reducing 

B2H6

BI3

BCl3  with H2

https://dl.doubtnut.com/l/_kc28uvzKHVZC
https://dl.doubtnut.com/l/_sam0bcrXGNzj
https://dl.doubtnut.com/l/_r2ZMhuHj7P16


D. electrolysis of fused 

Answer: D

Watch Video Solution

BCl3

51. Select correct statement :

A. The decomposition of an oxide into oxygen and metal vapour

entropy increases

B. Decomposition of an oxide is an endothermic change

C. The make  negative, temperature should be high enough so

that 

D. All are correct statements

Answer: D

Watch Video Solution

ΔG∘

T ΔS ∘ > ΔH ∘

https://dl.doubtnut.com/l/_r2ZMhuHj7P16
https://dl.doubtnut.com/l/_5HwIw7pq8aV7
https://dl.doubtnut.com/l/_4ntRj6LrM29o


52. The oxide of a metal (R ) can be reduced by the metal (P) and metal (R

) can reduce the oxide of metal (Q). Then the decreasing order of the

reactivity of metal (P), (Q) and (R ) with oxygen is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P > Q > R

P > R > Q

R > P > Q

Q > P > R

53. Consider the following metallurgical processes : 

(I) Heating impure metal with CO and distilling the resulting volatile

carbonyl (b.p.  and finally decomposition at  to get

the pure metal 

(II) Heating the sulphide ore in air until a part is converted to oxide and

43∘ C) 150∘ − 200∘ C

https://dl.doubtnut.com/l/_4ntRj6LrM29o
https://dl.doubtnut.com/l/_KAtkSH88nedb


then further heating in the absence of air to let the oxide react with

unchanged metal sulphide 

(III) Electrolysis of the molten electrolyte containing approximately equal

amounts of the metal chloride and NaCl to obtained the metal 

The processes used for obtaining magnesium, nickel and copper are

respectively :

A. (I),(II) and (III)

B. (II), (III) and (I)

C. (III), (I) and (II)

D. (II), (I) and (III)

Answer: C

Watch Video Solution

54. When alumina is heated with carbon in nitrogen atmosphere, the

products are :

https://dl.doubtnut.com/l/_KAtkSH88nedb
https://dl.doubtnut.com/l/_9Zn95VMHHzHP


A. Al +CO

B. 

C. 

D. 

Answer: D

Watch Video Solution

Al + CO2

Al + CO + CO2

AlN + CO

55. MgO is used as a refractory material because :

A. It has high melting point

B. It is a good conductor of heat

C. It is a good electrical insulator

D. All of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_9Zn95VMHHzHP
https://dl.doubtnut.com/l/_NUac2B3rRyrJ


56. Amoung the following statements, the incorrect statement is :

A. calamine and cerrusite are carbonate ores

B. rutile and cuprite are oxide ores

C. zinc blende and pyrites are sulphide ores

D. malachite and azurite are sulphate ores of Cu

Answer: D

Watch Video Solution

57. Give the correct order of initials T or F for following statements. Use T

if statement is true and F if it is false. 

(i) Every mineral is an ore but every ore is not a mineral 

(ii) Slag is product formed during extraction of metal by combination of

flux and impuritites. 

https://dl.doubtnut.com/l/_NUac2B3rRyrJ
https://dl.doubtnut.com/l/_xF2ozgyuOBML
https://dl.doubtnut.com/l/_J4Nzy9kxZepl


(iii) Highly pure metals can be obtained by zone refining. 

(iv) Carnallite is an ore of magnesium and sodium.

A. T T T F

B. FT TF

C. FT T T

D. TFTF

Answer: B

Watch Video Solution

58. Find the incorrectly matched pair ? 

A. 

B. 

Column-I(ores) Column-II(metals)

Sylvine (1)Potassium

Column-I(ores) Column-II(metals)

Malachite (2)Magnesium

https://dl.doubtnut.com/l/_J4Nzy9kxZepl
https://dl.doubtnut.com/l/_yHg1icsQatSS


C. 

D. 

Answer: B

Watch Video Solution

Column-I(ores) Column-II(metals)

Cinnabar (3)Mercury

Column-I(ores) Column-II(metals)

Fluorite (Flourspar) (4)Calcium

59. Froth floatation process used for the concentration of sulphide ore :

A. is based on the difference in wettability of different minerls

B. uses sodium ethyl xanthate,  as collector

C. uses NaCN as depressant in the mixture of ZnS and PbS when ZnS

forms soluble complex and PbS forms froth

D. All are correct statements

Answer: D

Watch Video Solution

C2H5OCS2Na

https://dl.doubtnut.com/l/_yHg1icsQatSS
https://dl.doubtnut.com/l/_9kJxdpaYLsKm
https://dl.doubtnut.com/l/_InYQKln8uRMQ


60. When ZnS and PbS minearls are present together, then NaCN is added

to separate them in the froth floatation process as a depressant, because

:

A.  is precipitated while no effect on ZnS

B. ZnS forms soluble complex 

C. PbS forms soluble complex 

D. They cannot be separated by adding NaCN

Answer: B

Watch Video Solution

Pb(CN)2

Na2[Zn(CN)4]

Na2[Pb(CN)4]

61. Leaching of  is carried out by heating it with a dilute solution of:

A. NaCN only

B. HCl

C. NaOH

Ag2S

https://dl.doubtnut.com/l/_InYQKln8uRMQ
https://dl.doubtnut.com/l/_T4ZzvoARXKjb


D. NaCN in presence of 

Answer: D

Watch Video Solution

O2

62. Leaching is commercially carried out for in the concentration of :

A. Galena

B. Argentite

C. Copper pyrites

D. Tin stone

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_T4ZzvoARXKjb
https://dl.doubtnut.com/l/_KVGkgKG4gIYW


63.  is sometimes added in the froth flotation process as a

depressant when  and  minerals are expected because 

A.  is precipitated while no effect on ZnS

B. ZnS forms soluble complex  while PbS forms froth

C. PbS forms soluble complex  while ZnS forms froth

D. NaCN is never added in froth floatation process

Answer: B

Watch Video Solution

NaCN

ZnS PbS :

Pb(CN)2

Na2[Zn(CN)4]

Na2[Pb(CN)4]

64. Which of the following substance acts as collector in froth floatation

method ?

A. Sodium xenate

B. Sodium pyrophosphate

C. Sodium nitroprusside

https://dl.doubtnut.com/l/_chKvgDm1ZrcY
https://dl.doubtnut.com/l/_2xljg3ifYcGv


D. Sodium ethyl xanthate

Answer: D

Watch Video Solution

65. In which of the following pair of metals, both are commercially

extracted from their respective ores by carbon reduction method ?

A. Zn, Cu

B. Fe, Cu

C. Sn, Zn

D. Al, Ag

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_2xljg3ifYcGv
https://dl.doubtnut.com/l/_CL7RqhvdtTFQ


66. Formation of metallic copper from the sulphide ore in the commercial

metallurgical process involves.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cu2S + O2 → Cu2O + SO2,    Cu2O + C → 2Cu + CO
3

2

Cu2S + O2 → Cu2O + SO2,     2Cu2O + Cu2S → 6Cu + SO2

3

2

Cu2S + 2O2 → CuSO4,         CuSO4 + Cu2S → 3Cu + 2SO2

Cu2S + O2 → Cu2O + SO2,       Cu2O + CO → 2Cu + CO2

3

2

67. There are following extraction process of silver but not:

A. as a side product in electrolytic refining of copper

https://dl.doubtnut.com/l/_h9zX30ZVAQJX
https://dl.doubtnut.com/l/_e617CYCLifhP


B. Parke's process in which Zn is used to extract silver by solvent

extraction from molten lead

C. by reaction of silver sulphide with KCN and then reaction of soluble

complex with Zn

D. by heating 

Answer: D

Watch Video Solution

Na[Ag(CN)2]

68. In the extraction of aluminium 

Process X : applied for red bauxite to remove iron oxide (chief impurity) 

Process Y : (Serpeck's process) : applied for white bauxite to remove Z

(chief impurity) then, process X and impurity Z are :

A. X=Hall and Heroult's process and 

B. X=Baeyer's process and 

C. `X=Serpeck's process and Y= iron oxide

Y = SiO2

Y = SiO2

https://dl.doubtnut.com/l/_e617CYCLifhP
https://dl.doubtnut.com/l/_QIfryVnMHjf8


D. X=Baeyer's process and Y = iron oxide

Answer: B

Watch Video Solution

69. Give the correct order of initials T or F for following statements. Use T

if statement is true and F if it is false. 

(i) In Gold schmidt thermite process aluminium acts as a reducing agent. 

(ii) Mg is extracted by electrolysis of aq. Solution of  


(iii) Extraction of Pb is possible by carbon reduction method 

(iv) Red Bauxite is purified by Serpeck's process

A. T T T F

B. TF FT

C. F T T T

D. TFTF

Answer: D

MgCl2

https://dl.doubtnut.com/l/_QIfryVnMHjf8
https://dl.doubtnut.com/l/_35au77aL11SH


Watch Video Solution

70.  (chromite ) is converted to Cr by following steps : 


Crhormite  


Reagents in I, II and III step might be :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

FeCr2O4

I
−−→ NaCrO4

II
−−→ Cr2O3

III
−−→ Cr

 I-Step II-Step III-Step

Na2CO3 /air,Δ  C  C

 I-Step II-Step III-Step

NaOH /air,Δ  CΔ AlΔ

 I-Step II-Step III-Step

Na2CO3 /air,Δ  CΔ  CΔ

 I-Step II-Step III-Step

conc. H2SO4Δ  NH4ClΔ  CΔ

71. The electrolysis of pure alumina is not feasible because :

A. it is bad conductor of electricity and its fusion temperature is high

https://dl.doubtnut.com/l/_35au77aL11SH
https://dl.doubtnut.com/l/_7coUhnUDcQ0l
https://dl.doubtnut.com/l/_D92vgVabQMl6


B. it is volatile in nature

C. it is decomposed when fused

D. it is amphoteric

Answer: A

Watch Video Solution

72. Which of the following reaction does not occur in Bessemer's

converter ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2Cu2S + 5O2 → 2CuSO4 + 2CuO

2Cu2S + 3O2 → 2Cu2O + 2SO2 ↑

2CuFeS2 + O2 → Cu2S + 2FeS + SO2

FeO + SiO2 → FeSiO3

https://dl.doubtnut.com/l/_D92vgVabQMl6
https://dl.doubtnut.com/l/_9vau4Q0Yq5I0


73. what products are formed during the electrolysis of concentrated

aqueous solution of sodium chloride? 

(I) (g) at anode (II) NaOH (aq) (III) (g) At cathode

A. I only

B. I and II only

C. I and III only

D. I, II and III

Answer: D

Watch Video Solution

Cl2 H2

74. During the electrolysis of carnallite,  is decomposed and not

KCl. This is because of :

A. lower decomposition voltage of  than that of KCl

MgCl2

MgCl2

https://dl.doubtnut.com/l/_9vau4Q0Yq5I0
https://dl.doubtnut.com/l/_q8VBSGGdZaes
https://dl.doubtnut.com/l/_5HEdBsVUOMGq


B. reverse reaction  if KCl is

decomposed under other experimental condition

C. both (a) and (b)

D. none of the above

Answer: C

Watch Video Solution

MgCl2 + 2K → Mg + 2KCl

75. Aluminium oxide is not reduced by chemical reactions due to

A. Beeyer's process

B. Goldschmidt's aluminothermite process

C. Hall's process

D. van Arkel process

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_5HEdBsVUOMGq
https://dl.doubtnut.com/l/_it11gIiSaeat


76. Incorrect statement in electrolysis of  by Hall-Heroult process is

:

A. Cryolite  lowers the m.pt. of  and increases its

electrical conductivity

B. Al is obtained at cathode and  at anode

C.  can be used in place of cryolite 

D.  can be used in place of flourspare 

Answer: D

Watch Video Solution

Al2O3

N3[AlF5] Al2O3

CO2

Li2CO3 (Na3AlF6)

MgF2 (CaF2)

77. In the leaching of  with NaCN, a stream of air is also passed. It is

because of :

A. reversible nature of eaction between  and NaCN

Ag2S

Ag2S

https://dl.doubtnut.com/l/_it11gIiSaeat
https://dl.doubtnut.com/l/_meTCjbegUH47
https://dl.doubtnut.com/l/_tEW3OkRhwXBY


B. to oxide  formed into  and sulphur

C. both (a) and (b)

D. none of the above

Answer: C

Watch Video Solution

Na2S Na2SO4

78. In van Arkel method, if  is introduced at 1700 K over impure metal,

the product will be :

A. Iodide of the metal

B. No reaction takes place

C. Impurities react with iodine

D. None of these

Answer: A

Watch Video Solution

I2

https://dl.doubtnut.com/l/_tEW3OkRhwXBY
https://dl.doubtnut.com/l/_hirZUQloaMgb


79. The method of zone refining of metals is based on the principle of

A. Greater mobility of the pure metal than that of impurity

B. Higher melting point of the impurity than that of the pure metal

C. Greater noble character of the solid metal than that of the impurity

D. Greater solubility of the impurity in the molten state than in the

solid

Answer: D

Watch Video Solution

80. Blister copper is refined by stirring molten impure metal with green

logs of wood because such a wood liberates hydrocarbon gases (like 

). This process X is called ________ and the metal contains impurities of Y is

__________ .

CH4

https://dl.doubtnut.com/l/_hirZUQloaMgb
https://dl.doubtnut.com/l/_L3JR6xZyqyTa
https://dl.doubtnut.com/l/_omskOa95Gjj1


A. X=cupellation, 

B. X=polling, 

C. X=polling, Y= CuO

D. X=cupellation, Y=CuO

Answer: B

Watch Video Solution

Y = CuO2

Y = Cu2O

81. The anode mud in the electrolytic refining of silver contains :

A. Zn, Cu, Ag, Au

B. Zn, Ag, Au

C. Cu, Ag, Au

D. Au only

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_omskOa95Gjj1
https://dl.doubtnut.com/l/_bOdeKcTyb49b


82. The method of electrolytic refining is not suitable in the extraction of

A. Aluminium

B. Copper

C. Mercury

D. Silver

Answer: C

Watch Video Solution

83. Match Column-I with Column-II 

https://dl.doubtnut.com/l/_bOdeKcTyb49b
https://dl.doubtnut.com/l/_eEej7PT46BNN
https://dl.doubtnut.com/l/_ryNTMsoO5I6e


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P Q R S

II I III IV

P Q R S

II I IV III

P Q R S

I II IV III

P Q R S

I II III IV

84. Softening of lead means :

A. conversion of lead to 

B. conversion of lead to 

C. removal of impurities (metallic) from lead

D. washing lead with  followed by alkali solution

Answer: C

Watch Video Solution

PbO

Pb3O4

HNO3

https://dl.doubtnut.com/l/_ryNTMsoO5I6e
https://dl.doubtnut.com/l/_hiqyOHkNZpgW


85. In the purification of impure Ni by Mond's process, metal is purified by

A. electrolytic reduction

B. Vapour phase thermal decomposition

C. Thermite reduction

D. Carbon reduction

Answer: B

Watch Video Solution

86. Correct match is :

A. Bayer's method 

B. Matte 

C. van Arkel method - AgI

−Na2CO3

      −98 % Cu2S + 2 % FeS

https://dl.doubtnut.com/l/_hiqyOHkNZpgW
https://dl.doubtnut.com/l/_lFnGAtpf1aVK
https://dl.doubtnut.com/l/_a913kf5OvMPK


Level 3 Passive 1

D. Thomas slag - Raw material for cement industry

Answer: B

Watch Video Solution

1. For a sponaneous reaction, the free energy change must be negative,

 is the enthalpy change during the reaction. T is

the absolute temperature, and  is the change in entropy during the

reaction. Consider a reaction such as the formation of an oxide 

 


Dioxygen is used up in the course of this reaction. Gases have a more

random structure (less ordered) than liquid or solids. Consequently gases

have a higher entropy than liquids and solids. In this reaction S (entropy

or randomness) decreases, hence  is negative. Thus, if the

temperature is raised then  becomes more negative,Since,  is

substracted in the equation, then  becomes less negative. Thus, the

ΔG = ΔH − T ΔS, ΔH

ΔS

M + O2 → MO

ΔS

T ΔS T ΔS

ΔG

https://dl.doubtnut.com/l/_a913kf5OvMPK
https://dl.doubtnut.com/l/_3EFJ3sMEDVmg


free energy change increases with the increase in temperature. 

The free energy changes that occur when one mole of common reactant

(in this case dioxygen) is used may be plotted graphically aginst

temperature for a number of reactions of metals to their oxides. The

following plot is called an Ellingham diagram for metal oxide.

Understanding of Ellingham diagram is extremely important for the

efficient extraction of metals. 

 


https://dl.doubtnut.com/l/_3EFJ3sMEDVmg


For the conversion of Ca(s) to Ca(s) which of the following represent the

 vs. T ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ΔG

https://dl.doubtnut.com/l/_3EFJ3sMEDVmg


2. For a sponaneous reaction, the free energy change must be negative,

 is the enthalpy change during the reaction. T is

the absolute temperature, and  is the change in entropy during the

reaction. Consider a reaction such as the formation of an oxide 

 


Dioxygen is used up in the course of this reaction. Gases have a more

random structure (less ordered) than liquid or solids. Consequently gases

have a higher entropy than liquids and solids. In this reaction S (entropy

or randomness) decreases, hence  is negative. Thus, if the

temperature is raised then  becomes more negative,Since,  is

substracted in the equation, then  becomes less negative. Thus, the

free energy change increases with the increase in temperature. 

The free energy changes that occur when one mole of common reactant

(in this case dioxygen) is used may be plotted graphically aginst

temperature for a number of reactions of metals to their oxides. The

following plot is called an Ellingham diagram for metal oxide.

Understanding of Ellingham diagram is extremely important for the

efficient extraction of metals. 

ΔG = ΔH − T ΔS, ΔH

ΔS

M + O2 → MO

ΔS

T ΔS T ΔS

ΔG

https://dl.doubtnut.com/l/_oqimfEEDfU2v


 

Free energy change of Hg and Mg for the convertion to oxides the slpe of

 vsT has been changed above the boiling points of the given metal

because :

A. above the boiling point of the metal entropy is increased

B. above the boiling point of the metal the entropy is decreased

ΔG

https://dl.doubtnut.com/l/_oqimfEEDfU2v


C. above the boiling point of the metal the entropy change is equal to

zero

D. All of these

Answer: A

Watch Video Solution

3. For a sponaneous reaction, the free energy change must be negative,

 is the enthalpy change during the reaction. T is

the absolute temperature, and  is the change in entropy during the

reaction. Consider a reaction such as the formation of an oxide 

 


Dioxygen is used up in the course of this reaction. Gases have a more

random structure (less ordered) than liquid or solids. Consequently gases

have a higher entropy than liquids and solids. In this reaction S (entropy

or randomness) decreases, hence  is negative. Thus, if the

temperature is raised then  becomes more negative,Since,  is

ΔG = ΔH − T ΔS, ΔH

ΔS

M + O2 → MO

ΔS

T ΔS T ΔS

https://dl.doubtnut.com/l/_oqimfEEDfU2v
https://dl.doubtnut.com/l/_I3Ii3DLo0Dfp


substracted in the equation, then  becomes less negative. Thus, the

free energy change increases with the increase in temperature. 

The free energy changes that occur when one mole of common reactant

(in this case dioxygen) is used may be plotted graphically aginst

temperature for a number of reactions of metals to their oxides. The

following plot is called an Ellingham diagram for metal oxide.

Understanding of Ellingham diagram is extremely important for the

efficient extraction of metals. 

 

ΔG

https://dl.doubtnut.com/l/_I3Ii3DLo0Dfp


Which of the following elements can be prepared by heating the oxide

above  ?

A. Hg

B. Mg

C. Fe

D. Al

Answer: A

Watch Video Solution

400∘ C

4. For a sponaneous reaction, the free energy change must be negative,

 is the enthalpy change during the reaction. T is

the absolute temperature, and  is the change in entropy during the

reaction. Consider a reaction such as the formation of an oxide 

 


Dioxygen is used up in the course of this reaction. Gases have a more

random structure (less ordered) than liquid or solids. Consequently gases

ΔG = ΔH − T ΔS, ΔH

ΔS

M + O2 → MO

https://dl.doubtnut.com/l/_I3Ii3DLo0Dfp
https://dl.doubtnut.com/l/_KoZzXPPnqTPo


have a higher entropy than liquids and solids. In this reaction S (entropy

or randomness) decreases, hence  is negative. Thus, if the

temperature is raised then  becomes more negative,Since,  is

substracted in the equation, then  becomes less negative. Thus, the

free energy change increases with the increase in temperature. 

The free energy changes that occur when one mole of common reactant

(in this case dioxygen) is used may be plotted graphically aginst

temperature for a number of reactions of metals to their oxides. The

following plot is called an Ellingham diagram for metal oxide.

Understanding of Ellingham diagram is extremely important for the

efficient extraction of metals. 

ΔS

T ΔS T ΔS

ΔG

https://dl.doubtnut.com/l/_KoZzXPPnqTPo


 

As per the Ellingham diagram of oxides which of the following conclusion

is true ?

A. Al reduces , whereas MgO cannot be reduced by Al at 

B. Fe reduces , whereas MgO cannot be reduced by Al at 

Fe2O3

1500∘ C

Al2O3

1500∘ C

https://dl.doubtnut.com/l/_KoZzXPPnqTPo


C. Al reduces , whereas MgO cannot be reduced by Ca at 

D. Al can reduce both  and MgO to the corresponding metal at 

Answer: A

Watch Video Solution

Fe2O3

1500∘ C

Fe2O3

1500∘ C

5. For a sponaneous reaction, the free energy change must be negative,

 is the enthalpy change during the reaction. T is

the absolute temperature, and  is the change in entropy during the

reaction. Consider a reaction such as the formation of an oxide 

 


Dioxygen is used up in the course of this reaction. Gases have a more

random structure (less ordered) than liquid or solids. Consequently gases

have a higher entropy than liquids and solids. In this reaction S (entropy

or randomness) decreases, hence  is negative. Thus, if the

ΔG = ΔH − T ΔS, ΔH

ΔS

M + O2 → MO

ΔS

https://dl.doubtnut.com/l/_KoZzXPPnqTPo
https://dl.doubtnut.com/l/_o9ae7BvMZJ5G


temperature is raised then  becomes more negative,Since,  is

substracted in the equation, then  becomes less negative. Thus, the

free energy change increases with the increase in temperature. 

The free energy changes that occur when one mole of common reactant

(in this case dioxygen) is used may be plotted graphically aginst

temperature for a number of reactions of metals to their oxides. The

following plot is called an Ellingham diagram for metal oxide.

Understanding of Ellingham diagram is extremely important for the

efficient extraction of metals. 

T ΔS T ΔS

ΔG

https://dl.doubtnut.com/l/_o9ae7BvMZJ5G


 


For the conversion of Ca(s) to Ca(s) which of the following represent the

 vs. T ?

A. 

ΔG

https://dl.doubtnut.com/l/_o9ae7BvMZJ5G


B. 

C. 

D. 

Answer: C

Watch Video Solution

6. For a sponaneous reaction, the free energy change must be negative,

 is the enthalpy change during the reaction. T is

the absolute temperature, and  is the change in entropy during the

reaction. Consider a reaction such as the formation of an oxide 

 


ΔG = ΔH − T ΔS, ΔH

ΔS

M + O2 → MO

https://dl.doubtnut.com/l/_o9ae7BvMZJ5G
https://dl.doubtnut.com/l/_oy270i2luh5G


Dioxygen is used up in the course of this reaction. Gases have a more

random structure (less ordered) than liquid or solids. Consequently gases

have a higher entropy than liquids and solids. In this reaction S (entropy

or randomness) decreases, hence  is negative. Thus, if the

temperature is raised then  becomes more negative,Since,  is

substracted in the equation, then  becomes less negative. Thus, the

free energy change increases with the increase in temperature. 

The free energy changes that occur when one mole of common reactant

(in this case dioxygen) is used may be plotted graphically aginst

temperature for a number of reactions of metals to their oxides. The

following plot is called an Ellingham diagram for metal oxide.

Understanding of Ellingham diagram is extremely important for the

efficient extraction of metals. 

ΔS

T ΔS T ΔS

ΔG

https://dl.doubtnut.com/l/_oy270i2luh5G


 

Free energy change of Hg and Mg for the convertion to oxides the slpe of

 vsT has been changed above the boiling points of the given metal

because :

A. above the boiling point of the metal entropy is increased

B. above the boiling point of the metal the entropy is decreased

ΔG

https://dl.doubtnut.com/l/_oy270i2luh5G


C. above the boiling point of the metal the entropy change is equal to

zero

D. All of these

Answer: A

Watch Video Solution

7. For a sponaneous reaction, the free energy change must be negative,

 is the enthalpy change during the reaction. T is

the absolute temperature, and  is the change in entropy during the

reaction. Consider a reaction such as the formation of an oxide 

 


Dioxygen is used up in the course of this reaction. Gases have a more

random structure (less ordered) than liquid or solids. Consequently gases

have a higher entropy than liquids and solids. In this reaction S (entropy

or randomness) decreases, hence  is negative. Thus, if the

temperature is raised then  becomes more negative,Since,  is

ΔG = ΔH − T ΔS, ΔH

ΔS

M + O2 → MO

ΔS

T ΔS T ΔS

https://dl.doubtnut.com/l/_oy270i2luh5G
https://dl.doubtnut.com/l/_zr4UJUA8zy7x


substracted in the equation, then  becomes less negative. Thus, the

free energy change increases with the increase in temperature. 

The free energy changes that occur when one mole of common reactant

(in this case dioxygen) is used may be plotted graphically aginst

temperature for a number of reactions of metals to their oxides. The

following plot is called an Ellingham diagram for metal oxide.

Understanding of Ellingham diagram is extremely important for the

efficient extraction of metals. 

 

ΔG

https://dl.doubtnut.com/l/_zr4UJUA8zy7x


Which of the following elements can be prepared by heating the oxide

above  ?

A. Hg

B. Mg

C. Fe

D. Al

Answer: A

Watch Video Solution

400∘ C

8. For a sponaneous reaction, the free energy change must be negative,

 is the enthalpy change during the reaction. T is

the absolute temperature, and  is the change in entropy during the

reaction. Consider a reaction such as the formation of an oxide 

 


Dioxygen is used up in the course of this reaction. Gases have a more

random structure (less ordered) than liquid or solids. Consequently gases

ΔG = ΔH − T ΔS, ΔH

ΔS

M + O2 → MO

https://dl.doubtnut.com/l/_zr4UJUA8zy7x
https://dl.doubtnut.com/l/_XzPw074ElAj5


have a higher entropy than liquids and solids. In this reaction S (entropy

or randomness) decreases, hence  is negative. Thus, if the

temperature is raised then  becomes more negative,Since,  is

substracted in the equation, then  becomes less negative. Thus, the

free energy change increases with the increase in temperature. 

The free energy changes that occur when one mole of common reactant

(in this case dioxygen) is used may be plotted graphically aginst

temperature for a number of reactions of metals to their oxides. The

following plot is called an Ellingham diagram for metal oxide.

Understanding of Ellingham diagram is extremely important for the

efficient extraction of metals. 

ΔS

T ΔS T ΔS

ΔG

https://dl.doubtnut.com/l/_XzPw074ElAj5


 

As per the Ellingham diagram of oxides which of the following conclusion

is true ?

A. Al reduces , whereas MgO cannot be reduced by Al at 

B. Fe reduces , whereas MgO cannot be reduced by Al at 

Fe2O3

1500∘ C

Al2O3

1500∘ C

https://dl.doubtnut.com/l/_XzPw074ElAj5


Level 3 Passive 2

C. Al reduces , whereas MgO cannot be reduced by Ca at 

D. Al can reduce both  and MgO to the corresponding metal at 

Answer: A

Watch Video Solution

Fe2O3

1500∘ C

Fe2O3

1500∘ C

1. The ellingham diagram for zinc, magnesium and carbon coverting into

correspondingoxides is shown below. 

https://dl.doubtnut.com/l/_XzPw074ElAj5
https://dl.doubtnut.com/l/_FAUkfN2CEmDe


 


At what temperature, zinc and carbon have equal affinity for oxygen ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1000∘ C

1500∘ C

500∘ C

1200∘ C

https://dl.doubtnut.com/l/_FAUkfN2CEmDe


2. The ellingham diagram for zinc, magnesium and carbon coverting into

correspondingoxides is shown below. 

 


To make the following reduction process spontaneous, temperature

should be : 

A. 

B. 

C. 

D. 

ZnO + C → Zn + CO

1000∘ C

> 1100∘ C

< 500∘ C

< 1000∘ C

https://dl.doubtnut.com/l/_aQtyV9Os67dm


Answer: B

Watch Video Solution

3. The ellingham diagram for zinc, magnesium and carbon coverting into

correspondingoxides is shown below. 

 


At , which reaction is spontaneous to a maximum extent ?

A. 

B. 

1100∘ C

MgO + C → Mg + CO

ZnO + C → Zn + CO

https://dl.doubtnut.com/l/_aQtyV9Os67dm
https://dl.doubtnut.com/l/_zMbNRaXeWndB


C. 

D. 

Answer: D

Watch Video Solution

MgO + Zn → Mg + ZnO

ZnO + Mg → MgO + Zn

4. The ellingham diagram for zinc, magnesium and carbon coverting into

correspondingoxides is shown below. 

 


At what temperature, zinc and carbon have equal affinity for oxygen ?

https://dl.doubtnut.com/l/_zMbNRaXeWndB
https://dl.doubtnut.com/l/_HfPkKIT4txrY


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1000∘ C

1500∘ C

500∘ C

1200∘ C

5. The ellingham diagram for zinc, magnesium and carbon coverting into

correspondingoxides is shown below. 

https://dl.doubtnut.com/l/_HfPkKIT4txrY
https://dl.doubtnut.com/l/_xERX0KgbtfNs


 


To make the following reduction process spontaneous, temperature

should be : 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ZnO + C → Zn + CO

1000∘ C

> 1100∘ C

< 500∘ C

< 1000∘ C

https://dl.doubtnut.com/l/_xERX0KgbtfNs


6. The ellingham diagram for zinc, magnesium and carbon coverting into

correspondingoxides is shown below. 

 


At , which reaction is spontaneous to a maximum extent ?

A. 

B. 

C. 

D. 

1100∘ C

MgO + C → Mg + CO

ZnO + C → Zn + CO

MgO + Zn → Mg + ZnO

ZnO + Mg → MgO + Zn

https://dl.doubtnut.com/l/_xERX0KgbtfNs
https://dl.doubtnut.com/l/_vfnutOClD92E


Level 3 Passive 3

Answer: D

Watch Video Solution

1. The Ellingham diagram for a number of metallic sulphides is shown

below. 

 


Formation of which of the sulphides is most spontaneous ?

https://dl.doubtnut.com/l/_vfnutOClD92E
https://dl.doubtnut.com/l/_yQfSnoxZ6qNY


A. HgS

B. 

C. 

D. 

Answer: C

Watch Video Solution

Bi2S3

PbS

CS2

2. The Ellingham diagram for a number of metallic sulphides is shown

below. 

https://dl.doubtnut.com/l/_yQfSnoxZ6qNY
https://dl.doubtnut.com/l/_UDNEyNFxH2Tk


 


Which sulphide occurs to minimum extent in nature ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HgS

H2S

Bi2S3

CS2

https://dl.doubtnut.com/l/_UDNEyNFxH2Tk


3. The Ellingham diagram for a number of metallic sulphides is shown

below. 

 


Which of the following sulphides can not be reduced to metal by  at

about  ?

A. HgS

B. PbS

C. 

D. All of these

H2

1000∘ C

Bi2S3

https://dl.doubtnut.com/l/_ZGYumEWa57YW


Answer: B

Watch Video Solution

4. The Ellingham diagram for a number of metallic sulphides is shown

below. 

 


Formation of which of the sulphides is most spontaneous ?

A. HgS

https://dl.doubtnut.com/l/_ZGYumEWa57YW
https://dl.doubtnut.com/l/_GID4RO9vkNno


B. 

C. 

D. 

Answer: C

Watch Video Solution

Bi2S3

PbS

CS2

5. The Ellingham diagram for a number of metallic sulphides is shown

below. 

https://dl.doubtnut.com/l/_GID4RO9vkNno
https://dl.doubtnut.com/l/_M1PR3ONoFNg9


 


Which sulphide occurs to minimum extent in nature ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HgS

H2S

Bi2S3

CS2

https://dl.doubtnut.com/l/_M1PR3ONoFNg9


6. The Ellingham diagram for a number of metallic sulphides is shown

below. 

 


Which of the following sulphides can not be reduced to metal by  at

about  ?

A. HgS

B. PbS

C. 

D. All of these

H2

1000∘ C

Bi2S3

https://dl.doubtnut.com/l/_szVXR6NYSTgV


Level 3 Passive 4

Answer: B

Watch Video Solution

1. Magnesium is a valuable, light weight metal used as a structural

material as well as in alloys, batteries, and in chemical synthesis. Although

magnesium is plentiful in Earth's crust, it is mainly found in the sea water

(after sodium). There is about 1.3 g of magnesium in every kilogram of sea

water. The process for obtaining magnesium from sea water employs all

three types of reactions, i.e., precipitation, acid-base, and redox-reactions. 

Precipitation reaction involves formation of :

A. insoluble  by adding 

B. insoluble  by adding 

C. insoluble in  by adding 

D. insoluble  by adding NaCl

MgCO3 Na2CO3

Mg(OH)2 Ca(OH)2

MgSO4 Na2SO4

MgCl2

https://dl.doubtnut.com/l/_szVXR6NYSTgV
https://dl.doubtnut.com/l/_oTObci2yl00I


Answer: B

Watch Video Solution

2. Magnesium is a valuable, light weight metal used as a structural

material as well as in alloys, batteries, and in chemical synthesis. Although

magnesium is plentiful in Earth's crust, it is mainly found in the sea water

(after sodium). There is about 1.3 g of magnesium in every kilogram of sea

water. The process for obtaining magnesium from sea water employs all

three types of reactions, i.e., precipitation, acid-base, and redox-reactions. 

Acid-base reaction involves reaction between :

A.  and HCl

B. 

C. 

D. 

Answer: C

h id l i

MgCO3

Mg(OH)2 and H2SO4

Mg(OH)2 and HCl

MgCO3 and H2SO4

https://dl.doubtnut.com/l/_oTObci2yl00I
https://dl.doubtnut.com/l/_VgnHRzAAsgeS


Watch Video Solution

3. Magnesium is a valuable, light weight metal used as a structural

material as well as in alloys, batteries, and in chemical synthesis. Although

magnesium is plentiful in Earth's crust, it is mainly found in the sea water

(after sodium). There is about 1.3 g of magnesium in every kilogram of sea

water. The process for obtaining magnesium from sea water employs all

three types of reactions, i.e., precipitation, acid-base, and redox-reactions. 

Redox reaction takes place (in the extraction of Mg) :

A. in the electrolytic cell when fused  is subjected to

electrolysis

B. when fused  is heated

C. When fused  is strongly heated

D. none of the above

Answer: A

Watch Video Solution

MgCl2

MgCO3

MgCO3

https://dl.doubtnut.com/l/_VgnHRzAAsgeS
https://dl.doubtnut.com/l/_Bwr2xfCujlzT


4. Magnesium is a valuable, light weight metal used as a structural

material as well as in alloys, batteries, and in chemical synthesis. Although

magnesium is plentiful in Earth's crust, it is mainly found in the sea water

(after sodium). There is about 1.3 g of magnesium in every kilogram of sea

water. The process for obtaining magnesium from sea water employs all

three types of reactions, i.e., precipitation, acid-base, and redox-reactions. 

Redox reaction takes place (in the extraction of Mg) :

A. in the electrolytic cell when fused  is subjected to

electrolysis

B. when fused  is heated

C. When fused  is strongly heated

D. none of the above

Answer: A

Watch Video Solution

MgCl2

MgCO3

MgCO3

https://dl.doubtnut.com/l/_Bwr2xfCujlzT
https://dl.doubtnut.com/l/_DkoVXnmBaD7w


Level 3 Passive 5

1. Dow's process of extraction of Mg involves extraction of Mg from sea

water. Sea water is concentrated in sun-light and is then treated with

slaked lime. Magnesium hydroxide is heated in a stream of HCl to give

 which is electrolysed to discharge Mg. The mixture is in the ratio

35% . NaCl and  are added to

lower the fusion temperature and to increases the conductance. 

 


 


Electrolysis of fused  


( At Cathode) 


 (At Anode) 


Mg electrolysed is protected from atmospheric oxidation by a blanket of

inert gases. 

In the hydrated chloride of Mg the value of x is :

A. 6

B. 4

MgCl2

MgCl2 + 50 % NaCl + 15 % CaCl2 CaCl2

Mg2 + + Ca(OH)2 → Mg(OH)2 + Ca2 +

Mg(OH)2 + 2HCl → MgCl2 + 2H2O(l)

MgCl2 ⇔ Mg2 + + 2Cl

Mg2 + + 2e − → Mg

2Cl− → Cl2 + 2e −

https://dl.doubtnut.com/l/_HpRaUBuHJMxa


C. 8

D. 10

Answer: A

Watch Video Solution

2. Dow's process of extraction of Mg involves extraction of Mg from sea

water. Sea water is concentrated in sun-light and is then treated with

slaked lime. Magnesium hydroxide is heated in a stream of HCl to give

 which is electrolysed to discharge Mg. The mixture is in the ratio

35% . NaCl and  are added to

lower the fusion temperature and to increases the conductance. 

 


 


Electrolysis of fused  


( At Cathode) 


 (At Anode) 


Mg electrolysed is protected from atmospheric oxidation by a blanket of

MgCl2

MgCl2 + 50 % NaCl + 15 % CaCl2 CaCl2

Mg2 + + Ca(OH)2 → Mg(OH)2 + Ca2 +

Mg(OH)2 + 2HCl → MgCl2 + 2H2O(l)

MgCl2 ⇔ Mg2 + + 2Cl

Mg2 + + 2e − → Mg

2Cl− → Cl2 + 2e −

https://dl.doubtnut.com/l/_HpRaUBuHJMxa
https://dl.doubtnut.com/l/_tmbaR7a0bKWf


inert gases. 

Molten mixture contains  but at cathode only 

 is discharged because :

A. Standar reduction potential of  is least among the three

B. Standard oxidation potential of Mg is the least among the three

C. Discharge potential of  is highest

D. None of these

Answer: B

Watch Video Solution

Mg2 + , Na + and Ca2 +

Mg2 +

Mg2 +

Mg2 +

3. Dow's process of extraction of Mg involves extraction of Mg from sea

water. Sea water is concentrated in sun-light and is then treated with

slaked lime. Magnesium hydroxide is heated in a stream of HCl to give

 which is electrolysed to discharge Mg. The mixture is in the ratio

35% . NaCl and  are added to

lower the fusion temperature and to increases the conductance. 

MgCl2

MgCl2 + 50 % NaCl + 15 % CaCl2 CaCl2

https://dl.doubtnut.com/l/_tmbaR7a0bKWf
https://dl.doubtnut.com/l/_v6gQBKxN7jar


 


 


Electrolysis of fused  


( At Cathode) 


 (At Anode) 


Mg electrolysed is protected from atmospheric oxidation by a blanket of

inert gases. 

Molten mixutre of NaCl and  is added to the heated 

because :

A.  Partially dehydrated 

 and molten mixture  makes it fully

dehydrated

B.  is dehydrating agent

C.  lowers the melting point of 

D. None of these

Answer: C

Watch Video Solution

Mg2 + + Ca(OH)2 → Mg(OH)2 + Ca2 +

Mg(OH)2 + 2HCl → MgCl2 + 2H2O(l)

MgCl2 ⇔ Mg2 + + 2Cl

Mg2 + + 2e − → Mg

2Cl− → Cl2 + 2e −

CaCl2 MgCl2

MgCl2. xH2O +  dry HCl
973 − 1223K
−−−−−−→

MgCl2 (NaCl + CaCl2)

CaCl2

(CaCl2 + NaCl) MgCl2

https://dl.doubtnut.com/l/_v6gQBKxN7jar


Watch Video Solution

4. Dow's process of extraction of Mg involves extraction of Mg from sea

water. Sea water is concentrated in sun-light and is then treated with

slaked lime. Magnesium hydroxide is heated in a stream of HCl to give

 which is electrolysed to discharge Mg. The mixture is in the ratio

35% . NaCl and  are added to

lower the fusion temperature and to increases the conductance. 

 


 


Electrolysis of fused  


( At Cathode) 


 (At Anode) 


Mg electrolysed is protected from atmospheric oxidation by a blanket of

inert gases. 

In the hydrated chloride of Mg the value of x is :

A. 6

B. 4

MgCl2

MgCl2 + 50 % NaCl + 15 % CaCl2 CaCl2

Mg2 + + Ca(OH)2 → Mg(OH)2 + Ca2 +

Mg(OH)2 + 2HCl → MgCl2 + 2H2O(l)

MgCl2 ⇔ Mg2 + + 2Cl

Mg2 + + 2e − → Mg

2Cl− → Cl2 + 2e −

https://dl.doubtnut.com/l/_v6gQBKxN7jar
https://dl.doubtnut.com/l/_EdYhV6eAXIuz


C. 8

D. 10

Answer: A

Watch Video Solution

5. Dow's process of extraction of Mg involves extraction of Mg from sea

water. Sea water is concentrated in sun-light and is then treated with

slaked lime. Magnesium hydroxide is heated in a stream of HCl to give

 which is electrolysed to discharge Mg. The mixture is in the ratio

35% . NaCl and  are added to

lower the fusion temperature and to increases the conductance. 

 


 


Electrolysis of fused  


( At Cathode) 


 (At Anode) 


Mg electrolysed is protected from atmospheric oxidation by a blanket of

MgCl2

MgCl2 + 50 % NaCl + 15 % CaCl2 CaCl2

Mg2 + + Ca(OH)2 → Mg(OH)2 + Ca2 +

Mg(OH)2 + 2HCl → MgCl2 + 2H2O(l)

MgCl2 ⇔ Mg2 + + 2Cl

Mg2 + + 2e − → Mg

2Cl− → Cl2 + 2e −

https://dl.doubtnut.com/l/_EdYhV6eAXIuz
https://dl.doubtnut.com/l/_cvPItrMF0ine


inert gases. 

Molten mixture contains  but at cathode only 

 is discharged because :

A. Standarard reduction potential of  is least among the three

B. Standard oxidation potential of Mg is the least among the three

C. Discharge potential of  is highest

D. None of these

Answer: B

Watch Video Solution

Mg2 + , Na + and Ca2 +

Mg2 +

Mg2 +

Mg2 +

6. Dow's process of extraction of Mg involves extraction of Mg from sea

water. Sea water is concentrated in sun-light and is then treated with

slaked lime. Magnesium hydroxide is heated in a stream of HCl to give

 which is electrolysed to discharge Mg. The mixture is in the ratio

35% . NaCl and  are added to

lower the fusion temperature and to increases the conductance. 

MgCl2

MgCl2 + 50 % NaCl + 15 % CaCl2 CaCl2

https://dl.doubtnut.com/l/_cvPItrMF0ine
https://dl.doubtnut.com/l/_LB5jM78g6G7N


 


 


Electrolysis of fused  


( At Cathode) 


 (At Anode) 


Mg electrolysed is protected from atmospheric oxidation by a blanket of

inert gases. 

Molten mixutre of NaCl and  is added to the heated 

because :

A.  Partially dehydrated 

 and molten mixture  makes it fully

dehydrated

B.  is dehydrating agent

C.  lowers the melting point of 

D. None of these

Answer: C

Watch Video Solution

Mg2 + + Ca(OH)2 → Mg(OH)2 + Ca2 +

Mg(OH)2 + 2HCl → MgCl2 + 2H2O(l)

MgCl2 ⇔ Mg2 + + 2Cl

Mg2 + + 2e − → Mg

2Cl− → Cl2 + 2e −

CaCl2 MgCl2

MgCl2. xH2O +  dry HCl
973 − 1223K
−−−−−−→

MgCl2 (NaCl + CaCl2)

CaCl2

(CaCl2 + NaCl) MgCl2

https://dl.doubtnut.com/l/_LB5jM78g6G7N


Level 3 Passive 6

Watch Video Solution

1.  


 


 


 


Compound (A) and (B) are :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

FeCr2O4 + NaOH + air → (A) + Fe2O3

(A) + (B) → Na2Cr2O7

Na2Cr2O7 + X
Δ

−−→ Cr2O3

Cr2O3 + Y
Δ

−−→ Cr

Na2CrO4, H2SO4

Na2Cr2O7, HCl

Na2CrO5, H2SO4

Na4[Fe(OH)6], H2SO4

https://dl.doubtnut.com/l/_LB5jM78g6G7N
https://dl.doubtnut.com/l/_N8X5IIIcvjFC
https://dl.doubtnut.com/l/_MvBAZcAc5cKj


2.  


 


 


 


(X) and (Y) are :

A. C and Al

B. Al and C

C. C in both

D. Al in both

Answer: A

Watch Video Solution

FeCr2O4 + NaOH + air → (A) + Fe2O3

(A) + (B) → Na2Cr2O7

Na2Cr2O7 + X
Δ

−−→ Cr2O3

Cr2O3 + Y
Δ

−−→ Cr

3.  


 


 


FeCr2O4 + NaOH + air → (A) + Fe2O3

(A) + (B) → Na2Cr2O7

Na2Cr2O7 + X
Δ

−−→ Cr2O3

https://dl.doubtnut.com/l/_MvBAZcAc5cKj
https://dl.doubtnut.com/l/_oZ3TuGNnh7z9


 


 are separated by :

A. dissolving in conc. 

B. dissolving in 

C. dissolving in 

D. dissolving in dil. HCl

Answer: C

Watch Video Solution

Cr2O3 + Y
Δ

−−→ Cr

Na2CrO4 and Fe2O3

H2SO4

NH3

H2O

4.  


 


 


 


Compound (A) and (B) are :

A. 

FeCr2O4 + NaOH + air → (A) + Fe2O3

(A) + (B) → Na2Cr2O7

Na2Cr2O7 + X
Δ

−−→ Cr2O3

Cr2O3 + Y
Δ

−−→ Cr

Na2CrO4, H2SO4

https://dl.doubtnut.com/l/_oZ3TuGNnh7z9
https://dl.doubtnut.com/l/_HyppYDMveeJG


B. 

C. 

D. 

Answer: A

Watch Video Solution

Na2Cr2O7, HCl

Na2CrO5, H2SO4

Na4[Fe(OH)6], H2SO4

5.  


 


 


 


(X) and (Y) are :

A. C and Al

B. Al and C

C. C in both

D. Al in both

FeCr2O4 + NaOH + air → (A) + Fe2O3

(A) + (B) → Na2Cr2O7

Na2Cr2O7 + X
Δ

−−→ Cr2O3

Cr2O3 + Y
Δ

−−→ Cr

https://dl.doubtnut.com/l/_HyppYDMveeJG
https://dl.doubtnut.com/l/_nUwXJT0YxEWz


Answer: A

Watch Video Solution

6.  


 


 


 


 are separated by :

A. dissolving in conc. 

B. dissolving in 

C. dissolving in 

D. dissolving in dil. HCl

Answer: C

Watch Video Solution

FeCr2O4 + NaOH + air → (A) + Fe2O3

(A) + (B) → Na2Cr2O7

Na2Cr2O7 + X
Δ

−−→ Cr2O3

Cr2O3 + Y
Δ

−−→ Cr

Na2CrO4 and Fe2O3

H2SO4

NH3

H2O

https://dl.doubtnut.com/l/_nUwXJT0YxEWz
https://dl.doubtnut.com/l/_o4bnJNfcRLBQ


Level 3 Passive 7

1. Electrolysis is an important technique for extraction of metals, and each

ion of the solution needs a minimum voltage to get discharged and this

value is expressed in terms of discharge potential. For some metal ions

the discharge potentials follow the order given below : 

For some anions the discharge potentials are in the order : 

 


When aqueous solution of cupric bromide is electrolyzed the product

obtained at cathode will be :

A. Cu

B. 

C. 

D. 

Answer: A

Watch Video Solution

Li + > K + > Ca2 + > Na + > Mg2 + > Al3 + > Zn2 + > Fe2 + > Ni2 +

SO
2 −
4 > NO −

3 > OH − > Br − > I −

H2

Br2

O2

https://dl.doubtnut.com/l/_iiEhyqoynmF2


Watch Video Solution

2. Electrolysis is an important technique for extraction of metals, and

each ion of the solution needs a minimum voltage to get discharged and

this value is expressed in terms of discharge potential. For some metal

ions the discharge potentials follow the order given below : 

For some anions the discharge potentials are in the order : 

 


The product formed at anode and cathode, when dilute  is

electrolysed are :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Li + > K + > Ca2 + > Na + > Mg2 + > Al3 + > Zn2 + > Fe2 + > Ni2 +

SO
2 −
4 > NO −

3 > OH − > Br − > I −

H2SO4

SO2, H2

SO3, H2

H2S2O8, H2

O2, H2

https://dl.doubtnut.com/l/_iiEhyqoynmF2
https://dl.doubtnut.com/l/_Gm1AzRYsYEZ4


3. Electrolysis is an important technique for extraction of metals, and

each ion of the solution needs a minimum voltage to get discharged and

this value is expressed in terms of discharge potential. For some metal

ions the discharge potentials follow the order given below : 

For some anions the discharge potentials are in the order : 

 


A mixture containing chlorides of sodium, calcium and zinc is electrolysed

in presence f wate. The product obtained at cathode will be :

A. Na

B. 

C. 

D. 

Answer: B

Watch Video Solution

Li + > K + > Ca2 + > Na + > Mg2 + > Al3 + > Zn2 + > Fe2 + > Ni2 +

SO
2 −
4 > NO −

3 > OH − > Br − > I −

H2

Ca

Cl2

https://dl.doubtnut.com/l/_Gm1AzRYsYEZ4
https://dl.doubtnut.com/l/_JzvTY6Roz8Qj


4. Electrolysis is an important technique for extraction of metals, and

each ion of the solution needs a minimum voltage to get discharged and

this value is expressed in terms of discharge potential. For some metal

ions the discharge potentials follow the order given below : 

For some anions the discharge potentials are in the order : 

 


When conc.  is electrolysed with high current using Pt electrodes,

the product obtained at anode is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Li + > K + > Ca2 + > Na + > Mg2 + > Al3 + > Zn2 + > Fe2 + > Ni2 +

SO
2 −
4 > NO −

3 > OH − > Br − > I −

H2SO4

SO2

SO3

O2

H2S2O8

https://dl.doubtnut.com/l/_JzvTY6Roz8Qj
https://dl.doubtnut.com/l/_c9lOn06BOR8d


5. Electrolysis is an important technique for extraction of metals, and

each ion of the solution needs a minimum voltage to get discharged and

this value is expressed in terms of discharge potential. For some metal

ions the discharge potentials follow the order given below : 

For some anions the discharge potentials are in the order : 

 


When aqueous solution of cupric bromide is electrolyzed the product

obtained at cathode will be :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Li + > K + > Ca2 + > Na + > Mg2 + > Al3 + > Zn2 + > Fe2 + > Ni2 +

SO
2 −
4 > NO −

3 > OH − > Br − > I −

Cu

H2

Br2

O2

https://dl.doubtnut.com/l/_c9lOn06BOR8d
https://dl.doubtnut.com/l/_AOjdGZ7Gx616


6. Electrolysis is an important technique for extraction of metals, and

each ion of the solution needs a minimum voltage to get discharged and

this value is expressed in terms of discharge potential. For some metal

ions the discharge potentials follow the order given below : 

For some anions the discharge potentials are in the order : 

 


The product formed at anode and cathode, when dilute  is

electrolysed are :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Li + > K + > Ca2 + > Na + > Mg2 + > Al3 + > Zn2 + > Fe2 + > Ni2 +

SO
2 −
4 > NO −

3 > OH − > Br − > I −

H2SO4

SO2, H2

SO3, H2

H2S2O8, H2

O2, H2

https://dl.doubtnut.com/l/_hYZaW6GyYDQy
https://dl.doubtnut.com/l/_Wgfkjxfg0VH8


7. Electrolysis is an important technique for extraction of metals, and

each ion of the solution needs a minimum voltage to get discharged and

this value is expressed in terms of discharge potential. For some metal

ions the discharge potentials follow the order given below : 

For some anions the discharge potentials are in the order : 

 


A mixture containing chlorides of sodium, calcium and zinc is electrolysed

in presence f wate. The product obtained at cathode will be :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Li + > K + > Ca2 + > Na + > Mg2 + > Al3 + > Zn2 + > Fe2 + > Ni2 +

SO
2 −
4 > NO −

3 > OH − > Br − > I −

Na

H2

Ca

Cl2

https://dl.doubtnut.com/l/_Wgfkjxfg0VH8
https://dl.doubtnut.com/l/_tLhmRvUKxjBy


8. Electrolysis is an important technique for extraction of metals, and

each ion of the solution needs a minimum voltage to get discharged and

this value is expressed in terms of discharge potential. For some metal

ions the discharge potentials follow the order given below : 

For some anions the discharge potentials are in the order : 

 


When conc.  is electrolysed with high current using Pt electrodes,

the product obtained at anode is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Li + > K + > Ca2 + > Na + > Mg2 + > Al3 + > Zn2 + > Fe2 + > Ni2 +

SO
2 −
4 > NO −

3 > OH − > Br − > I −

H2SO4

SO2

SO3

O2

H2SO2O8

https://dl.doubtnut.com/l/_tLhmRvUKxjBy


One Or More Answers Is Are Correct

1. Which of the following metal (s) is /are commercially extracted by self

reduction method from their correspoindign ore ?

A. Cu

B. Fe

C. Pb

D. Hg

Answer: A::C::D

Watch Video Solution

2. Which of the following process makes the ore porous ?

A. Roasting

B. Calcination

https://dl.doubtnut.com/l/_33XuawnWi3TD
https://dl.doubtnut.com/l/_VL30tLD2Xg0U


C. Reduction

D. Distillation

Answer: A::B

Watch Video Solution

3. Which of the following ores is / are oxide ore (s) ?

A. Tinstone

B. Bauxite

C. Cryolite

D. Carnallite

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_VL30tLD2Xg0U
https://dl.doubtnut.com/l/_EEl5yBDfm0z7


4. Roasting of copper pyrites is done:

A. to remove moisture

B. to oxidise free sulphur

C. to decompose pyrite into  and FeS

D. to remove volatile organic impurities

Answer: A::B::C::D

Watch Video Solution

Cu2S

5. Which of the following is a correct statement ?

A. Calamine is the ore of zinc

B. Pyrolusite is the ore of manganese

C. Cassiterite is the ore of tin

D. Calcite is the ore of calcium

https://dl.doubtnut.com/l/_bX5qsouaIk8b
https://dl.doubtnut.com/l/_uAv1eavlPW00


Answer: A::B::C::D

Watch Video Solution

6. In which of the following pairs, both the minerals are oxides ?

A. Sylvine, saltpetre

B. Casseterite, litharge

C. Siderite, corundum

D. Cuprite, tinstone

Answer: B::D

Watch Video Solution

7. Which of the following mineral does not contain sodium ?

A. Trona

https://dl.doubtnut.com/l/_uAv1eavlPW00
https://dl.doubtnut.com/l/_sKJL1Q6atreM
https://dl.doubtnut.com/l/_2pVMoS1RT45h


B. Borax

C. Epsomite

D. Cerussite

Answer: C::D

Watch Video Solution

8. Which of the following pair consists of ore of the same metal ?

A. Bauxite, Limonite

B. Haematite,Siderite

C. Cinnabar, Cassiterite

D. Galena, Cerrusite

Answer: B::D

Watch Video Solution

https://dl.doubtnut.com/l/_2pVMoS1RT45h
https://dl.doubtnut.com/l/_lm9yoV0rKE93
https://dl.doubtnut.com/l/_sE8aaEiLNh8G


9. The process by which ligher earthly particles are made free from

heavier particles by washing with water is called

A. gravity separation method

B. Levigation

C. Hydraulic washing

D. Leaching

Answer: A::B::C

Watch Video Solution

10. Roasting is carried out to :

A. convert sulphide to oxide and sulphate

B. remove water of hydration

C. melt the ore

D. remove arsenic and sulphur impurities

https://dl.doubtnut.com/l/_sE8aaEiLNh8G
https://dl.doubtnut.com/l/_kSErkoalPiuU


Answer: A::B::D

Watch Video Solution

11. The chemical treatment of the ore for concentration is done in the

case of :

A. aluminium

B. silver

C. copper

D. gold

Answer: A::B::D

Watch Video Solution

12. Froth floatation :

https://dl.doubtnut.com/l/_kSErkoalPiuU
https://dl.doubtnut.com/l/_kJj5PBJFhIQk
https://dl.doubtnut.com/l/_540KMAvxYlV8


A. is a physical method of separating mineral from the gangue

B. is a method to concentrate the ore depending on the difference in

wetability of gangue and the ore

C. is used for the sulphide ores

D. is a method in which impurities sink to the bottom

Answer: A::B::C::D

Watch Video Solution

13. Which of the following reaction (s) occur during calcination ?

A. 

B. 

C. 

D. 

Answer: A::C

CaCO3 → CaO + CO2

4FeS2 + 11O2 → 2Fe2O3 + 8SO2

2Al(OH)3 → Al2O3 + 3H2O

CuS + CuSO4 → 2Cu + 2SO2

https://dl.doubtnut.com/l/_540KMAvxYlV8
https://dl.doubtnut.com/l/_1PzgWtO8zHUd


Watch Video Solution

14. Amphoteric nature of aluminium is employed in which of the following

process for extraction of aluminium ?

A. Baeyer's process

B. Hall's process

C. Serpeck's process

D. Dow's process

Answer: A::B

Watch Video Solution

15. Which of the following is true for calcination of metal ore ?

A. It makes the ore more porous

B. The ore is heated to a temperature when fusion just begins

https://dl.doubtnut.com/l/_1PzgWtO8zHUd
https://dl.doubtnut.com/l/_EspOmfZVXjvz
https://dl.doubtnut.com/l/_DXb7J5w2QUSC


C. Hydrated salts lose their water of crystallisation

D. Impurities of S, As and Sb are removed in the form of their volatile

oxides

Answer: A::C

Watch Video Solution

16. The difference (s) between roasting and calcination is / are :

A. roasting is highly endothermic while calcination is not

B. partial fusion occurs in calcination but not in roasting

C. calcination is performed in limited amount of air but roasting

employs excess air

D. combustion reaction occur in roasting but not in calcination

Answer: C::D

Watch Video Solution

https://dl.doubtnut.com/l/_DXb7J5w2QUSC
https://dl.doubtnut.com/l/_FXVCHrBJ14p2


17. The etraction of metals from oxide ores involves

A. Reduction with carbon

B. Reduction with aluminium

C. Electrolyte reduction

D. Reduction with CO

Answer: A::B::C::D

Watch Video Solution

18. Metals which can be extracted by smelting process are :

A. Pb

B. Fe

C. Zn

https://dl.doubtnut.com/l/_FXVCHrBJ14p2
https://dl.doubtnut.com/l/_frQcjiia1Rm1
https://dl.doubtnut.com/l/_2MqyyPdXGThv


D. Al

Answer: A::B::C

Watch Video Solution

19. Of the following reduction processes, correct processes are :

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

Fe2O3 + C → Fe

ZnO + C → Zn

Ca3(PO4)2 + C → P

PbO + C → Pb

https://dl.doubtnut.com/l/_2MqyyPdXGThv
https://dl.doubtnut.com/l/_RwgW0NH8qLgw


20. In the extraction of aluminium metal, one of the process is

summarised as follows : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

 I II III  IV  V

NaOH Al3 + HF Na3AlF6 Cathode

 I II III  IV  V

NaOH NaAlO2 CO2 NaF Anode

 I II III  IV  V

H2SO4 Al2(SO4)
3

NH3 Na3AlF6 Cathode

 I II III  IV  V

NaOH NaAlO2 CO2 Na3AlF6 Cathode

21. During the production of iron and steel.

https://dl.doubtnut.com/l/_3n4tlpBC4c2p
https://dl.doubtnut.com/l/_TREoRDqT9vq0


A. The oxide ore is primarily reduced to iron by solid coke according to

the reaction 

B. The oxide ore is reduced by the carbon monoxide according to the

reaction 

C. Major silica impurities are removed as calcium silicate slag by

addition of a fluxing agent limestone

D. The silicate slag is used in manufacturing cement

Answer: B::C::D

Watch Video Solution

2Fe2O + 3C → 4Fe + 3CO2

Fe2O3 + 3CO → 2Fe + 3CO2

22. The smelting of iron in a blast furnace involves, which of the following

process(es)?

https://dl.doubtnut.com/l/_TREoRDqT9vq0
https://dl.doubtnut.com/l/_w7FnPQZ8YGdg


A. combustion

B. reduction

C. slag formation

D. sublimation

Answer: A::B::C

Watch Video Solution

23. For which of the following metals can be extracted by aluminothermic

process ?

A. Manganese

B. Iron

C. Chromium

D. Magnesium

Answer: A::B::C

https://dl.doubtnut.com/l/_w7FnPQZ8YGdg
https://dl.doubtnut.com/l/_ajgiL5neHFpG


Watch Video Solution

24. For which of the following metal, the carbon reduction cannot be

used ?

A. Lead

B. Manganese

C. Tungsten

D. Iron

Answer: B::C

Watch Video Solution

25. The advantage(s) of using carbon to reduce a number of oxides and

other compounds are :

A. easy availability of coke

https://dl.doubtnut.com/l/_ajgiL5neHFpG
https://dl.doubtnut.com/l/_3OkXZyCNsLqh
https://dl.doubtnut.com/l/_XGa2y9eEvQJ5


B. low cost of carbon

C. tendency of carbon to show catenation

D. pressence of carbon lowers the melting point of the oxides

Answer: A::B

Watch Video Solution

26. The disadvantage of carbon reduction method are :

A. high temperature needed which is expensive and requires the use

of a blast furnace

B. many metals combine with carbon forming carbides

C. carbon combines with oxgen to form poisonous CO

D. carbon cannot be used with highly electropositive metals

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_XGa2y9eEvQJ5
https://dl.doubtnut.com/l/_dXKmm4vCaIKn


27. Which of the following metal (s) is /are commercially extracted by self

reduction method from their correspoindign ore ?

A. Copper

B. Mercury

C. Lead

D. Silver

Answer: A::B::C

Watch Video Solution

28. Which of the following is / are correctly matched ?

A. 

B. 

C. 

Column-I(Metals) Calumn-II(Process used for extraction)

Titanium Kroll process

Column-I(Metals) Calumn-II(Process used for extraction)

Aluminium Baeyer process

Column-I(Metals) Calumn-II(Process used for extraction)

Chromium Thermite process

https://dl.doubtnut.com/l/_dXKmm4vCaIKn
https://dl.doubtnut.com/l/_7jI2fUbnZzCs
https://dl.doubtnut.com/l/_XcpM1t20RNqM


D. 

Answer: A::C::D

Watch Video Solution

Column-I(Metals) Calumn-II(Process used for extraction)

Silver Mac-Arthur cyanide process

29. The funciton of adding cryolite in the electrolytic reduction of alumina

by Hall-Heroult process is to :

A. dissolve alumina

B. lower the melting point of alumina

C. lower the fuel bill

D. increase the elctrical conductivity of alumina

Answer: A::B::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_XcpM1t20RNqM
https://dl.doubtnut.com/l/_QUoNCioY2dkR


30. Which of the following reduction reactions are actually employed in

commercial extraction of metals ?

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

Fe2O3 + 2Al → Al2O3 + 2Fe

Cr2O3 + 2Al → Al2O3 + 2Cr

2Na[Au(CN)2] + Zn → Na2[Zn(CN)4] + 2Au

Cu2S + PB → Cu + PbS ↓

31. The main reaction occuring in blast furnance during extraction of iron

from haematite ore …..

A. 

B. 

C. 

Fe2O3 + 3CO → 2Fe + 3CO2

FeO + SiO2 → FeSiO3

Fe2O3 + C → 2Fe + 3CO

https://dl.doubtnut.com/l/_JeIq9rJCb1n4
https://dl.doubtnut.com/l/_bpOmVlwQGEkd


D. 

Answer: A::D

Watch Video Solution

CaO + SiO2 → CaSiO3

32. Which of the following are true for electrolytic extraction of

aluminimum ?

A. Cathode material contains graphite

B. Anode material contains graphite

C. Cathode reacts away forming 

D. Anode reacts away forming 

Answer: A::B::D

Watch Video Solution

CO2

CO2

https://dl.doubtnut.com/l/_bpOmVlwQGEkd
https://dl.doubtnut.com/l/_xNu9stdtEcC5


33. Select correct statement regrading silver extraction//purification

process.

A. When the lead-silver alloy is rich in silver, lead is removed by the

curpellation process

B. When the lead-silver alloy is ich in lead, lead is removed by parke's

or pattinson's process

C. Zinc forms an alloy with lead, from which lead is separated by

distillation

D. Zinc forms an alloy with silver, from which zinc is separated by

distillation

Answer: A::B::D

Watch Video Solution

https://dl.doubtnut.com/l/_3ULrqpMJ8Rqu


34. Aluminothermy used for on the spot welding of large iron structures

is based upon the fact that

A. As compared to iron, aluminium has greater affinity for oxygen

B. As compared to aluminium, iron has greater affinity for oxygen

C. Reaction between aluminium and oxygen is endothermic

D. Reaction between iron oxide and aluminium is exothermic

Answer: A::D

Watch Video Solution

35. Highly electropositive metal(s) can not be commercially extracted by

carbon reduction process at high temperature because these :

A. Metals combine with carbon to form carbides

B. Metals do not react with carbon

C. Metal oxides are not reduced by carbon

https://dl.doubtnut.com/l/_FUeu0oM56k7R
https://dl.doubtnut.com/l/_CpAPoyDjUdUM


D. Loss of metal is more by vaporisation

Answer: A::D

Watch Video Solution

36. Which of the following reaction in the blast furnace is / are

endothermic ?

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

C(s) + O2(g) ⇔ CO2(g)

CO2(g) + C(s) ⇔ 2CO(g)

CaCO3(s) ⇔ CaO(s) + CO2(g)

Fe2O3(s) + 3CO(g) ⇔ 2Fe(l) + 3CO2(g)

https://dl.doubtnut.com/l/_CpAPoyDjUdUM
https://dl.doubtnut.com/l/_ZdMmwHPYpydZ


37. The funace lining in steel manufacture consists of :

A. CaO

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

SiO2

MgO

CaCO3

38. Pick up the correct statement(s) :

A. All minerals are ores

B. All minerals cannot be an ore

C. All ores are minerals

https://dl.doubtnut.com/l/_5og3b7zEL4Mh
https://dl.doubtnut.com/l/_sOv9XEUqjKYF


D. The minerals from which metals can be extracted profitably are

called ores

Answer: B::C::D

Watch Video Solution

39. Which of the following metal (s) is /are commercially extracted by self

reduction method from their correspoindign ore ?

A. Cu

B. Fe

C. Pb

D. Hg

Answer: A::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_sOv9XEUqjKYF
https://dl.doubtnut.com/l/_JXfLC8cs3j3R
https://dl.doubtnut.com/l/_qp4RjQVfsskX


40. Which of the following process makes the ore porous ?

A. Roasting

B. Calcination

C. Reduction

D. Distillation

Answer: A::B

Watch Video Solution

41. Which of the following ores is / are oxide ore (s) ?

A. Tinstone

B. Bauxite

C. Cryolite

D. Carnallite

https://dl.doubtnut.com/l/_qp4RjQVfsskX
https://dl.doubtnut.com/l/_5qR9kmTrqQS9


Answer: A::B

Watch Video Solution

42. Roasting of copper pyrites is done:

A. to remove moisture

B. to oxidise free sulphur

C. to decompose pyrite into  and FeS

D. to remove volatile organic impurities

Answer: A::B::C::D

Watch Video Solution

Cu2S

43. Which of the following is a correct statement ?

A. Calamine is the ore of zinc

https://dl.doubtnut.com/l/_5qR9kmTrqQS9
https://dl.doubtnut.com/l/_26Q62fbt32Q9
https://dl.doubtnut.com/l/_ZbggwC88hncj


B. Pyrolusite is the ore of manganese

C. Cassiterite is the ore of tin

D. Calcite is the ore of calcium

Answer: A::B::C::D

Watch Video Solution

44. In which of the following pairs, both the minerals are oxides ?

A. Sylvine, saltpetre

B. Casseterite, litharge

C. Siderite, corundum

D. Cuprite, tinstone

Answer: B::D

Watch Video Solution

https://dl.doubtnut.com/l/_ZbggwC88hncj
https://dl.doubtnut.com/l/_8PsPW0o7rdMz
https://dl.doubtnut.com/l/_yIb07tj01IU1


45. Which of the following mineral does not contain sodium ?

A. Trona

B. Borax

C. Epsomite

D. Cerrusite

Answer: C::D

Watch Video Solution

46. Which of the following pair consists of ore of the same metal ?

A. Bauxite, Limonite

B. Haematite,Siderite

C. Cinnabar, Cassiterite

D. Galena, Cerrusite

https://dl.doubtnut.com/l/_yIb07tj01IU1
https://dl.doubtnut.com/l/_i38ylat5vi8S


Answer: B::D

Watch Video Solution

47. The process (es) by which lighter earthy particles are freed from the

heavier particles using water is / are :

A. gravity separation method

B. Levigation

C. Hydraulic washing

D. Leaching

Answer: A::B::C

Watch Video Solution

48. Roasting is carried out to :

https://dl.doubtnut.com/l/_i38ylat5vi8S
https://dl.doubtnut.com/l/_wiu13p47avBA
https://dl.doubtnut.com/l/_01VtK6zoW7Ri


A. convert sulphide to oxide and sulphate

B. remove water of hydration

C. melt the ore

D. remove arsenic and sulphur impurities

Answer: A::B::D

Watch Video Solution

49. The chemical treatment of the ore for concentration is done in the

case of :

A. aluminium

B. silver

C. copper

D. gold

Answer: A::B::D

https://dl.doubtnut.com/l/_01VtK6zoW7Ri
https://dl.doubtnut.com/l/_jOdvUtBqeSCr


Watch Video Solution

50. Froth floatation :

A. is a physical method of separating mineral from the gangue

B. is a method to concentrate the ore depending on the difference in

wetability of gangue and the ore

C. is used for the sulphide ores

D. is a method in which impurities sink to the bottom

Answer: A::B::C::D

Watch Video Solution

51. Which of the following reaction(s) occurs during calcination?

A. 

B. 

CaCO3 → CaO + CO2

4FeS2 + 11O2 → 2Fe2O3 + 8SO2

https://dl.doubtnut.com/l/_jOdvUtBqeSCr
https://dl.doubtnut.com/l/_B3vdaKRblkDr
https://dl.doubtnut.com/l/_Xkf4t218kkg6


C. 

D. 

Answer: A::C

Watch Video Solution

2Al(OH)3 → Al2O3 + 3H2O

CuS + CuSO4 → 2Cu + 2SO2

52. Amphoteric nature of aluminium is employed in which of the following

process for extraction of aluminium ?

A. Baeyer's process

B. Hall's process

C. Serpeck's process

D. Dow's process

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_Xkf4t218kkg6
https://dl.doubtnut.com/l/_NlYFuib6UP2L
https://dl.doubtnut.com/l/_VQozxd6wYL9W


53. Which of the following is true for calcination of metal ore ?

A. It makes the ore more porous

B. The ore is heated to a temperature when fusion just begins

C. Hydrated salts lose their water of crystallisation

D. Impurities of S, As and Sb are removed in the form of their volatile

oxides

Answer: A::C

Watch Video Solution

54. The difference (s) between roasting and calcination is / are :

A. roasting is highly endothermic while calcination is not

B. partial fusion occurs in calcination but not in roasting

C. calcination is performed in limited amount of air but roasting

employs excess air

https://dl.doubtnut.com/l/_VQozxd6wYL9W
https://dl.doubtnut.com/l/_W3ItzT6mGTiF


D. combustion reaction occur in roasting but not in calcination

Answer: C::D

Watch Video Solution

55. The etraction of metals from oxide ores involves

A. Reduction with carbon

B. Reduction with aluminium

C. Electrolyte reduction

D. Reduction with CO

Answer: A::B::C::D

Watch Video Solution

56. Metals which can be extracted by smelting process are :

https://dl.doubtnut.com/l/_W3ItzT6mGTiF
https://dl.doubtnut.com/l/_hu0ePXAbitJl
https://dl.doubtnut.com/l/_eDMUtKH0RB2p


A. Pb

B. Fe

C. Zn

D. Al

Answer: A::B::C

Watch Video Solution

57. Of the following reduction processes, correct processes are :

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

Fe2O3 + C → Fe

ZnO + C → Zn

Ca3(PO4)2 + C → P

PbO + C → Pb

https://dl.doubtnut.com/l/_eDMUtKH0RB2p
https://dl.doubtnut.com/l/_W7cn5ROXh6wD


58. In the extraction of aluminium metal, one of the process is

summarised as follows : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

 I II III  IV  V

NaOH Al3 + HF Na3AlF6 Cathode

 I II III  IV  V

NaOH NaAlO2 CO2 NaF Anode

 I II III  IV  V

H2SO4 Al2(SO4)
3

NH3 Na3AlF6 Cathode

 I II III  IV  V

NaOH NaAlO2 CO2 Na3AlF6 Cathode

59. During the production of iron and steel.

https://dl.doubtnut.com/l/_W7cn5ROXh6wD
https://dl.doubtnut.com/l/_W31HX23o9iIi
https://dl.doubtnut.com/l/_Bn2fcM9ShQFb


A. The oxide ore is primarily reduced to iron by solid coke according to

the reaction 

B. The oxide ore is reduced by the carbon monoxide according to the

reaction 

C. Major silica impurities are removed as calcium silicate slag by

addition of a fluxing agent limestone

D. The silicate slag is used in manufacturing cement

Answer: B::C::D

Watch Video Solution

2Fe2O + 3C → 4Fe + 3CO2

Fe2O3 + 3CO → 2Fe + 3CO2

60. The smelting of iron in a blast furnace involves the following

processes :

https://dl.doubtnut.com/l/_Bn2fcM9ShQFb
https://dl.doubtnut.com/l/_Hk7M1XKq61X8


A. combustion

B. reduction

C. slag formation

D. sublimation

Answer: A::B::C

Watch Video Solution

61. For which of the following metals can be extracted by aluminothermic

process ?

A. Manganese

B. Iron

C. Chromium

D. Magnesium

Answer: A::B::C

https://dl.doubtnut.com/l/_Hk7M1XKq61X8
https://dl.doubtnut.com/l/_BgOgDztfpW34


Watch Video Solution

62. For which of the following metal, the carbon reduction cannot be

used ?

A. Lead

B. Manganese

C. Tungsten

D. Iron

Answer: B::C

Watch Video Solution

63. The advantage(s) of using carbon to reduce a number of oxides and

other compounds are :

A. easy availability of coke

https://dl.doubtnut.com/l/_BgOgDztfpW34
https://dl.doubtnut.com/l/_aVq4T01jJ9y1
https://dl.doubtnut.com/l/_2y9R26hd3Dnj


B. low cost of carbon

C. tendency of carbon to show catenation

D. pressence of carbon lowers the melting point of the oxides

Answer: A::B

Watch Video Solution

64. The disadvantage of carbon reduction method are :

A. high temperature needed which is expensive and requires the use

of a blast furnace

B. many metals combine with carbon forming carbides

C. carbon combines with oxgen to form poisonous CO

D. carbon cannot be used with highly electropositive metals

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_2y9R26hd3Dnj
https://dl.doubtnut.com/l/_j0ny6DDP9nuY


65. Which of the following metal (s) is /are commercially extracted by self

reduction method from their correspoindign ore ?

A. Copper

B. Mercury

C. Lead

D. Silver

Answer: A::B::C

Watch Video Solution

66. Which of the following is / are correctly matched ?

A. 

B. 

C. 

Column-I(Metals) Calumn-II(Process used for extraction)

Titanium Kroll process

Column-I(Metals) Calumn-II(Process used for extraction)

Aluminium Baeyer process

Column-I(Metals) Calumn-II(Process used for extraction)

Chromium Thermite process

https://dl.doubtnut.com/l/_j0ny6DDP9nuY
https://dl.doubtnut.com/l/_dfIq8um667C9
https://dl.doubtnut.com/l/_WNhA5l3jVX3F


D. 

Answer: A::C::D

Watch Video Solution

Column-I(Metals) Calumn-II(Process used for extraction)

Silver Mac-Arthur cyanide process

67. The funciton of adding cryolite in the electrolytic reduction of alumina

by Hall-Heroult process is to :

A. dissolve alumina

B. lower the melting point of alumina

C. lower the fuel bill

D. increase the elctrical conductivity of alumina

Answer: A::B::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_WNhA5l3jVX3F
https://dl.doubtnut.com/l/_EF0WmHotmbhZ


68. Which of the following reduction reactions are actually employed in

commercial extraction of metals ?

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

Fe2O3 + 2Al → Al2O3 + 2Fe

Cr2O3 + 2Al → Al2O3 + 2Cr

2Na[Au(CN)2] + Zn → Na2[Zn(CN)4] + 2Au

Cu2S + PB → Cu + PbS ↓

69. The main reaction occuring in blast furnance during extraction of iron

from haematite ore …..

A. 

B. 

C. 

Fe2O3 + 3CO → 2Fe + 3CO2

FeO + SiO2 → FeSiO3

Fe2O3 + C → 2Fe + 3CO

https://dl.doubtnut.com/l/_VCj0n8yuQOdq
https://dl.doubtnut.com/l/_gQavNNua6iud


D. 

Answer: A::D

Watch Video Solution

CaO + SiO2 → CaSiO3

70. Which of the following are true for electrolytic extraction of

aluminimum ?

A. Cathode material contains graphite

B. Anode material contains graphite

C. Cathode reacts away forming 

D. Anode reacts away forming 

Answer: A::B::D

Watch Video Solution

CO2

CO2

https://dl.doubtnut.com/l/_gQavNNua6iud
https://dl.doubtnut.com/l/_RGj1XRM0HJsk


71. Select correct statement regarding silver extraction process .

A. When the lead-silver alloy is rich in silver, lead is removed by the

curpellation process

B. When the lead-silver alloy is ich in lead, lead is removed by parke's

or pattinson's process

C. Zinc forms an alloy with lead, from which lead is separated by

distillation

D. Zinc forms an alloy with silver, from which zinc is separated by

distillation

Answer: A::B::D

Watch Video Solution

72. Aluminothermy used for the spot welding of large iron structures is

based upon the fact that :

https://dl.doubtnut.com/l/_H96eQpJDYMTl
https://dl.doubtnut.com/l/_HAVzx1I7eIyf


A. As compared to iron, aluminium has greater affinity for oxygen

B. As compared to aluminium, iron has greater affinity for oxygen

C. Reaction between aluminium and oxygen is endothermic

D. Reaction between iron oxide and aluminium is exothermic

Answer: A::D

Watch Video Solution

73. Highly electropositive metals can not be extracted by carbon

reduction process because these :

A. Metals combine with carbon to form carbides

B. Metals do not react with carbon

C. Metal oxides are not reduced by carbon

D. Loss of metal is more by vaporisation

Answer: A::D

https://dl.doubtnut.com/l/_HAVzx1I7eIyf
https://dl.doubtnut.com/l/_N4RWTKTrQN1a


Watch Video Solution

74. Which of the following reaction in the blast furnace is / are

endothermic ?

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

C(s) + O2(g) ⇔ CO2(g)

CO2(g) + C(s) ⇔ 2CO(g)

CaCO3(s) ⇔ CaO(s) + CO2(g)

Fe2O3(s) + 3CO(g) ⇔ 2Fe(l) + 3CO2(g)

75. The funace lining in steel manufacture consists of :

A. CaO

B. SiO2

https://dl.doubtnut.com/l/_N4RWTKTrQN1a
https://dl.doubtnut.com/l/_TDqddKF29f4F
https://dl.doubtnut.com/l/_itNHvXGjjku7


C. 

D. 

Answer: A::C

Watch Video Solution

MgO

CaCO3

76. Pick up the correct statement(s) :

A. All minerals are ores

B. All minerals cannot be an ore

C. All ores are minerals

D. The minerals from which metals can be extracted profitably are

called ores

Answer: B::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_itNHvXGjjku7
https://dl.doubtnut.com/l/_pmdBgUdp51QU


Match The Column

1. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

2. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

https://dl.doubtnut.com/l/_gogA8CEFFgj1
https://dl.doubtnut.com/l/_KTznU2bB6vTx


may have the matching with one or more than one entries of column-II. 

Watch Video Solution

3. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

https://dl.doubtnut.com/l/_KTznU2bB6vTx
https://dl.doubtnut.com/l/_wpzzYRqAotkT


4. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

5. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

https://dl.doubtnut.com/l/_mCPvUOrrShhA
https://dl.doubtnut.com/l/_fj9BbMzCRG9A


6. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

7. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

https://dl.doubtnut.com/l/_siDEhe6fuw99
https://dl.doubtnut.com/l/_a1oD3qqCVm9d


8. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

9. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

https://dl.doubtnut.com/l/_1ZSQs7kp8uFj
https://dl.doubtnut.com/l/_yrDpboSoiOop
https://dl.doubtnut.com/l/_U3LeBYGH51lA


10. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

11. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

https://dl.doubtnut.com/l/_U3LeBYGH51lA
https://dl.doubtnut.com/l/_pXFmynxkUpVf
https://dl.doubtnut.com/l/_6Rz0vHWY62f1


12. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

13. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

https://dl.doubtnut.com/l/_6Rz0vHWY62f1
https://dl.doubtnut.com/l/_wRY0P6lty62x


14. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

15. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

https://dl.doubtnut.com/l/_l4okre9DGUv2
https://dl.doubtnut.com/l/_5qKf1e2zxv5h


16. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

17. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

https://dl.doubtnut.com/l/_xuMGtRL989Go
https://dl.doubtnut.com/l/_20q26NGwwgY4


18. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

19. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

https://dl.doubtnut.com/l/_BnZUGgUGxtij
https://dl.doubtnut.com/l/_BsaoRCu4KH4z
https://dl.doubtnut.com/l/_xjgDpKOG359B


Assertion Reason Type Questions

20. Column-I and Column-II contains four entries each. Entries of column-I

are to be matched with some entries of column-II. Each entry of column-I

may have the matching with one or more than one entries of column-II. 

Watch Video Solution

1. Assertion :  gelatine is taken as electrolyte in

electrolytic refining of lead. 

Reason : Discharge potential of  is less than .

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

PbSiF6 + H2SiF6 +

Pb2 + H +

https://dl.doubtnut.com/l/_xjgDpKOG359B
https://dl.doubtnut.com/l/_8eTy9M6XOfnW


B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: C

Watch Video Solution

2. Assertion : Nitriding is the process of heating steel in presence of 

to form iron nitrides. 

Reason : The surface of steel becomes hard after nitriding process.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

N2

https://dl.doubtnut.com/l/_8eTy9M6XOfnW
https://dl.doubtnut.com/l/_fM8tIXcaFbOo


D. If assertion is INCORRECT but reason is CORRECT

Answer: D

Watch Video Solution

3. Assertion : Ores are generally converted into oxides, prior to reduction. 

Reason : Metal oxides can be easily reduced.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_fM8tIXcaFbOo
https://dl.doubtnut.com/l/_ZAB91KFlt8C1


4. Assertion : In the extraction of Ag, complex  is reacted

with Zn. 

Reason : Zn is d-block transition metal.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: C

Watch Video Solution

Na[Ag(CN)2]

5. Assertion : Thermite mixture  (powder) is used in the

welding. 

Fe2O3 + Al

https://dl.doubtnut.com/l/_ZAB91KFlt8C1
https://dl.doubtnut.com/l/_Nm9OZb2VhlCv
https://dl.doubtnut.com/l/_dVe3nXFssCf7


Reason : Al is a good reductant.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: B

Watch Video Solution

6. Assertion : In froth floatation process sodium ethyl xanthate is used as

collector. 

Reason : Sulphide ores are water soluble.

https://dl.doubtnut.com/l/_dVe3nXFssCf7
https://dl.doubtnut.com/l/_retOx0ooxXFx


A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: C

Watch Video Solution

7. Assertion : Cryolite is used in electrolytic extraction of Al from alumina. 

It dissolves alumina.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

https://dl.doubtnut.com/l/_retOx0ooxXFx
https://dl.doubtnut.com/l/_1FIQhAmi7POT


B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: A

Watch Video Solution

8. Assertion:  is concentrated by froath floatation method 


Reason :  is main ore of copper.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

CuFeS2

CuFeS2

https://dl.doubtnut.com/l/_1FIQhAmi7POT
https://dl.doubtnut.com/l/_nPtuVxZutqiZ


D. If assertion is INCORRECT but reason is CORRECT

Answer: B

Watch Video Solution

9. Assertion : In the electrolytic reduction of , cryolite is used. 


Reason : Cryolite is an ore of aluminium.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: B

Watch Video Solution

Al2O3

https://dl.doubtnut.com/l/_nPtuVxZutqiZ
https://dl.doubtnut.com/l/_kpQtyKATx8D9


10. Assertion : Wrought iron is more malleable and ductile than steel. 

Reason : It contains slightly less percentage of carbon.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: A

Watch Video Solution

11. Assertion : Lead, tin and bismuth are purified by liquation method. 

Reason : Lead, tin and bismuth have low m.p. as compared to impurities.

https://dl.doubtnut.com/l/_kpQtyKATx8D9
https://dl.doubtnut.com/l/_LQMx5BBmAlmV
https://dl.doubtnut.com/l/_X22iitmNrkD8


A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: A

Watch Video Solution

12. Assertion :  is converted into Al by reduction with carbon at

high temp. 

Reason : Carbon has greater affinity for oxygen than aluminium.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

Al2O3

https://dl.doubtnut.com/l/_X22iitmNrkD8
https://dl.doubtnut.com/l/_SU6UeySKxiHz


B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: C

Watch Video Solution

13. Assertion : Reduction of ZnO with carbon is done at . 


Reason : At this temperature,  is negative and the process is

spontaneous.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

1100∘ C

ΔG∘

https://dl.doubtnut.com/l/_SU6UeySKxiHz
https://dl.doubtnut.com/l/_k7oITPPaKo4A


D. If assertion is INCORRECT but reason is CORRECT

Answer: A

Watch Video Solution

14. Assertion : Desilverisation of lead is done by Parke's method . 

Reason : When lead-silver alloy is poor in silver, zinc is added to molten

ore.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: A

ΔG

https://dl.doubtnut.com/l/_k7oITPPaKo4A
https://dl.doubtnut.com/l/_mJJBX9p4Lme1


Watch Video Solution

15. Statement-I : All the ores are mineral 

Statement-II : Most of the ores contains metals in combined state

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: C

Watch Video Solution

16. Assertion :  gelatine is taken as electrolyte in

electrolytic refining of lead. 

PbSiF6 + H2SiF6 +

https://dl.doubtnut.com/l/_mJJBX9p4Lme1
https://dl.doubtnut.com/l/_3Larr0Po9vWj
https://dl.doubtnut.com/l/_WUAu8jctDRrw


Reason : Discharge potential of  is less than .

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: C

Watch Video Solution

Pb2 + H +

17. Assertion : Nitriding is the process of heating steel in presence of 

to form iron nitrides. 

Reason : The surface of steel becomes hard after nitriding process.

N2

https://dl.doubtnut.com/l/_WUAu8jctDRrw
https://dl.doubtnut.com/l/_pd6lrraflPyk


A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: D

Watch Video Solution

18. Assertion : Ores are generally converted into oxides, prior to

reduction. 

Reason : Metal oxides can be easily reduced.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

https://dl.doubtnut.com/l/_pd6lrraflPyk
https://dl.doubtnut.com/l/_plCUmlyTmRee


B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: C

Watch Video Solution

19. Assertion : In the extraction of Ag, complex  is reacted

with Zn. 

Reason : Zn is d-block transition metal.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

Na[Ag(CN)2]

https://dl.doubtnut.com/l/_plCUmlyTmRee
https://dl.doubtnut.com/l/_KE4LwQJ4DD5f


D. If assertion is INCORRECT but reason is CORRECT

Answer: C

Watch Video Solution

20. Assertion : Thermite mixture  (powder) is used in the

welding. 

Reason : Al is a good reductant.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: B

Fe2O3 + Al

https://dl.doubtnut.com/l/_KE4LwQJ4DD5f
https://dl.doubtnut.com/l/_IgiTqHh9z1kP


Watch Video Solution

21. Assertion : In froth floatation process sodium ethyl xanthate is used as

collector. 

Reason : Sulphide ores are water soluble.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_IgiTqHh9z1kP
https://dl.doubtnut.com/l/_GpNlnFTXutUp


22. Assertion:  is concentrated by froath floatation method 


Reason :  is main ore of copper.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: B

Watch Video Solution

CuFeS2

CuFeS2

23. Assertion : In the electrolytic reduction of , cryolite is used. 


Reason : Cryolite is an ore of aluminium.

Al2O3

https://dl.doubtnut.com/l/_xuSVV2Qrike6
https://dl.doubtnut.com/l/_H0c10rAUkGWP


A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: B

Watch Video Solution

24. Assertion : Wrought iron is more malleable and ductile than steel. 

Reason : It contains slightly less percentage of carbon.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

https://dl.doubtnut.com/l/_H0c10rAUkGWP
https://dl.doubtnut.com/l/_kMxYQ2ccFNO1


B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: A

Watch Video Solution

25. Assertion : Lead, tin and bismuth are purified by liquation method. 

Reason : Lead, tin and bismuth have low m.p. as compared to impurities.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

https://dl.doubtnut.com/l/_kMxYQ2ccFNO1
https://dl.doubtnut.com/l/_F3d12wnDUBKg


D. If assertion is INCORRECT but reason is CORRECT

Answer: A

Watch Video Solution

26. Assertion :  is converted into Al by reduction with carbon at

high temp. 

Reason : Carbon has greater affinity for oxygen than aluminium.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: C

Al2O3

https://dl.doubtnut.com/l/_F3d12wnDUBKg
https://dl.doubtnut.com/l/_bgCRC2bATVIz


Watch Video Solution

27. Reduction of ZnO with carbon is done at . 


Reason :  is negative at this temperature thus, process is

spontaneous.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: A

Watch Video Solution

1100∘ C

ΔG∘

https://dl.doubtnut.com/l/_bgCRC2bATVIz
https://dl.doubtnut.com/l/_P1G4Ho6u6qhe


28. Assertion : Desilverisation of lead is done by Parke's method. 

Reason : When lead-silver alloy is poor in silver, zinc is added to molten

ore.

A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: A

Watch Video Solution

29. Assertion : All the ores are mineral. ltbr. Reason : Ores contains metals

in combined state.

https://dl.doubtnut.com/l/_UMDjiNHEEpbF
https://dl.doubtnut.com/l/_89CheYWm30rx


A. If both assetion and reason are CORRECT, and reason is the

CORRECT explanation of the assertion

B. If both assertion and reason are CORRECT, but reason is NOT the

CORRECT explanation of the assertion

C. If assertion is CORRECT but reason is INCORRECT

D. If assertion is INCORRECT but reason is CORRECT

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_89CheYWm30rx

